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CIFA PART III SECTION 6

INTERNATIONAL FINANCE

MONDAY: 30 November 2020. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a) Explain the following terms as applied in international finance:
(i) Delphi technique. (2 marks)
(1) Currency cocktail bond. (2 marks)

(®)

(c)

(d)

Dyna Ltd. is a Kenyan company involved in international business of exporting executive footwear. The company is
expecting a receivable of 50,000,000 Tanzania shillings (Tsh.) in 90 days from a sales transaction to Tanzania.

Additional information:

. Annualised interest rate in Tanzania is 9%.

e Annualised interest rate in Kenya is 13%.

3 90-day forward rate in Tanzanian currency is Tsh.10.

4. Spot exchange rate of the Tanzania shilling to Kenya shilling is Tsh.9.50.

Required:

(1) The amount to be received by Dyna Ltd. in Kenya shillings using money market hedge. (3 marks)
(ii) The amount to be received by Dyna Litd. in Kenya shillings using forward contract hedge. (2 marks)
(iii) Advise Dyna Ltd. on which of the two options under (b) (i) and (b) (ii) above to select. (1 mark)

Savanna Technologies Limited sold computer software to Maxweb Limited, a company based in Rwanda on credit
and invoiced 10 million Rwandan Francs (RWF) payable in six months. Currently, the six-month forward exchange
rate is 0.1121 KES/RWF and the foreign exchange advisor for Savanna Technologies Limited predicts that the spot
rate is likely to be 0.1100 KES/RWF in six months.

Required:
(1) The expected gain/loss from the forward hedging. (2 marks)
(ii) Recommend to the management of Savanna Technologies Limited on whether to hedge the Rwandan Franc
(RWF). (1 mark)
(iii) Suppose the forward exchange rate advisor predicts that the future spot rate will be the same as the forward
exchange rate quoted today.
Explain whether you would still recommend hedging of the RWF. (1 mark)
Discuss three risk exposures that your country is likely to face from excessive external borrowing. (6 marks)
(Total: 20 marks)
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QUESTION TWO
(a) Tom Lusweti has been engaging in locational arbitrage for some time now. He is considering the following {?Qation
from two different banks located in different locations: (Q
Lipa Bank Vuma Bank §
Currency quotes Bid Ask Bid Ask
Euro/US dollar (€/$) €0.8226  €0.8293 €0.8361 €0.8395
Required:
(i) Assuming that Lusweti is holding 20,000 Euros, demonstrate how he could take advantage of locational
arbitrage. (3 marks)
(i) Highlight two assumptions of locational arbitrage made in (a) (i) above. (2 marks)
(b) Citing four reasons, justify why it is inevitable for multinational corporations to manage political risks. (4 marks)
(c) Examine three major reasons why multinational corporations face challenges in computing cost of capital across
countries. (3 marks)
(d) Evaluate four causes of global financial crisis. (8 marks)
(Total: 20 marks)
QUESTION THREE
(a) Zulu Enterprises, a South African company intends to invest in a capital project in Kenya. The project is expected to

commence on 1 July 2020.

Additional information:

i The project is expected to cost South African Rands (ZAR) 75,000,000 and a further ZAR 42,000,000 will be
required for working capital requirements on commencement of the project.
Z The working capital requirements on commencement of the project would be recouped at the end of the
project’s economic life.
2 The economic life of the project is 5 years.
4. Capital allowance would be provided on straight-line basis over the project’s economic life with zero salvage
value expected.
5. The expected revenue, sales and fixed costs are as follows:
Year
2020 2021 2022 2023 2024
Sales (ZAR “000™) 130,000 170,000 195,000 210,000 75,000
Fixed costs (ZAR “000”) 26,000 40,000 45,000 35,000 30,000
6. Variable costs are expected to be 40% of sales revenue annually.
9 The exchange rates between the South African Rand and the Kenya shilling are expected to be as follows

over the project’s economic life:

(Assume the exchange rate on 1 January 2020 was Ksh.14.00/ZAR).

31 December 2020 15.20
31 December 2021 17.10
31 December 2022 18.95
31 December 2023 20.50
31 December 2024 22.00
8. Cost of capital in both South African and Kenya is 12% and the rates of taxes are assumed to be the same at
30%.
9. The project would be exempted from tax in South Africa.
10. All cz sh flows are expected to accrue at the year end.
Required:
(1) The project’s Net Present Value (NPV) in Kenya shillings. (10 marks)
(ii) Advise the management whether to invest in the project. (2 marks)
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(b) Explain the application of the following in the context of international finance: (QO®
: . . O
(1) Risk adjusted discounted rate. {Q,zﬁb marks)
(ii) Sensitivity analysis. : § (2 marks)
(iii) Simulation. (2 marks)
(iv) Tax drag. (2 marks)
(Total: 20 marks)
QUESTION FOUR
(a) Max Limited has its head office located in Nairobi, Kenya and a subsidiary in London, United Kingdom. The
subsidiary remits a total of 50,000 Sterling Pound (£) every month to the head office. On average, it takes the
subsidiary 15 days to transfer the funds to the head office.
The finance manager of Max Limited has approached HTL Bank to transfer the funds on its behalf.
The bank would take 3 days to transfer the funds at a transfer fee of 2% of the amount transferred every month.
Max Limited would use the days saved on transfer to invest the funds received.
Additional information:
i The return on investment is 18% per annum.
2 The exchange rate between Kenya shilling and Sterling pound is Ksh.140/1£.
Assume a year has 360 days.
Required:
Advise the management of Max Limited on whether to use the HTL Bank for the transfer of funds. (6 marks)
(b) Describe three limitations of using fundamental analysis in forecasting trends in exchange rate markets. (3 marks)
(c) Explain five points of considerations when selecting an international paymént method. (5 marks)
(d) Citing an example in each case, describe three types of foreign direct investments (FDIs). (6 marks)
(Total: 20 marks)
QUESTION FIVE
(a) With reference to the international tax environment:
(1) Explain the term “foreign tax credit”. (2 marks)
(ii) Discuss the concept of transfer pricing. (4 marks)
(iii) Outline three risks of applying transfer pricing. (3 marks)
(b) Zebedi Limited is a Kenyan firm that conducts major importing and exporting business in China. All transactions are
invoiced in United States dollars (USD). The company obtained a long term debt in Kenya at an interest rate of 12%
per annum. The stock market return in Kenya is expected to be 14% annually. The long term rigk free rate in Kenya is
9%.
Zebedi Ltd.’s beta is 1.2. Its target capital structure is 40% debt. Zebedi Limited is subject to a 30% corporate tax rate.
Required:
Estimate the cost of capital to Zebedi Limited. (6 marks)
(c) Describe five ethical issues that multinational corporations have to address in their host countries. (5 marks)

(Total: 20 marks)

-------------------------------------------------------------------------
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Present Value Interest factor of 1 Received at the End of n Periods at r Percent:
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CIFA PART 1 SECTION 6

INTERNATIONAL FINANCE

THURSDAY: 28 November 2019, Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) Explain the following terms as used in international finance:
(i) Floating rate notes (FRNs). (1 mark)
(ii) Forfaiting. _ {1 mark)
(iii) Crowd funding. ' (1 mark)
t
(iv) Green bond. (1 mark)
(b) One of the objective of the East African Community (EAC) bloc is to achieve economic integration among the
member states,
In light of the above statement, describe five reasons why EAC is yet to achieve the above objective. (5 marks)
(c) Discuss three criticisms of the Heckscher-Ohlim Theory of international trade. (3 marks)
(d) The following information relates to the Wodu Republic for the financial year ended 31 December 2018:
W $ “billion” i
Exports of merchandise 3,344
Exports of services 1,491
Income receipts 2,454
Imports of merchandise 5,901
imports of services ' 1,134
Income payments 2211
Net transfers by Wodu Republic 336
Required:
(i) A current account for Wodu Republic for the year ended 31 December 2018. (4 marks)
(ii) Propose four measures that Wodu Republic could take to address the balance of payment (BOP) defigit
obtained in (d) (i) above, {4 marks)
(Total: 20 marks)
QUESTION TWO
(2) Explain four reasons why multinational corporations (MNCs) forecast exchange rates. (4 marks)
(b) SPL Limited, a company based in Kenya expects to receive 2 million Euros in one year’s time. The existing spot rate

of the Euro is KES 120/EUR. The I-year forward rate of the Euro is KES 121/EUR. The company expects the spot
rate of the Euro to be KES 122/EUR in one year.
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There are 1-year put options on Euros available in the market with an exercise price of KES 123 and a prequium of
KES 4 per unit. :

The following money market rates are available:

Kenya - Eurozone
Deposit rate 8% 5%
Borrowing rate 9% 6%
Required:
(i) The cash flow to be received in Kenya Shillings (KES) assuming SPL Limited uses money market hedge. |
(3 marks)
(ii) The cash flow to be received in KES assuming SPL Limited decides to use a put option hedge. (2 marks)
(iii) Advise the management on the best strategy to adopt. (1 mark)
(<) Douglas Kombo specialises in cross-rate arbitrage. He notices the following quotes:
Swiss Franc/United States dollar = SFr1.5971/%
Australian Dollar/United States Dollar = A § 1.8215/%
Australian Dollar/Swiss Franc = A% 1.440/SFr
Required: .
Arbitrage profit, if any, assuming Douglas has $1,000,000 to invest. (5 marks)
(d) The following interaffiliate cash flows are uncorrelated with one another:
Affiliate Expected Standard
transaction deviation
, (3) (%)
United States 100,000 40,000
Canada 150,000 60,000
Zambia 175,000 30,000
Egypt 200,000 70,000
Required:
(i) The standard deviation of the pertfolio of cash held in the central depository. ) (2 marks)
(ii) Outline three advantages of centralised cash management system to the multinational corporations (MNCs)
(3 marks)
{Total: 20 marks)
QUESTION THREE "
(a) Explain the following methods of payment that could be used by a multinational corporation (MNC) to settle
international transactions:
Required: .
(i} Prepayment. (2 marks)
(ii} Letters of credit (L/Cs). {2 marks)
(iii) Drafis. (2 marks)
(iv) Open account. (2 marks)
() Suggest three measures that a multinational corporation could take to address the issue of nepetism and corruption in
the host country. (3 marks)
{c) Evaiuate three factors that influence capital structure decisions for multinational corporations (MNCs), (3 niarks)
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(d)

Tamco Limited, a Kenyan based company, is considering investing in a new project to be based either in Kehya or
Rwanda. The project will constitute 30% of the total fundsto be invested by the company.

The following information is a forecast of the proposed project over a period of 5-years:

Characteristics of proposed projects

Existing Iflocated . Iflocated
Business in Kenya in Rwanda
Mean expected annual
return on investments (ROJ) 20% 25% 25%
Standard deviation of expected annual
after-tax ROI 0.10 0.09 0.11
Correlation of expected annual after-tax
RO for similar business in Kenya - 0.80 0.02
Required:
{i The overall expected after-tax returns assuming that the new project is located in Kenya. 2 marks)
(it} The overall variance in returns assuming Tamco Limited decides to locate the new project in Kenvya.
(2 marks)
(iii) The overall variability of the company’s return assuming the project is located in Rwanda. (2 marks)

(Total: 20 marks)

QUESTION FOUR

(a)

(b)

(¢}

(d)

In a liberalised economy, market forces of demand and supply dictate the interest rates and exchange rates in the
market.

With reference to the above statement, analyse two justifications why governments intervene in the exchange rate
system, {2 marks)

In an attempt to address the grave concern of illicit financial flows and the emerging risks of counterfeit. your country
recently undertook an exercise known as “demonetisation” of the currency.

Required: _

(i) Explain the term “demonetisation”. (1 mark)

(i) Argue two cases in favour of demonetisation and two cases against demonetisation, {4 marks)

(i) Using relevant examples, distinguish between “macro political risk” and “micro political risk”. {2 marks)

(ii} Suggest two techniques that a multinational corporation could adopt to minimise its exposure to political
risks. (2 marks)

Ithas been established that the United States Dollars (USD) exhibits a 6-month interest rate of 10% per annum while
the Kenyan Shilling (KES) exhibits a 6-month interest rate of 15% per annum.

Required:
{1) The forward rate premium or discount of the USD with respect to Kenyan Shilling (KES} according to
interest rate parity. {2 marks)

(ii} The 6-month forward rate of the USD with respect to the KES assuming that the current spot rate of the USD
is KES 100. (2 marks)

(iii) A Kenyan investor intends to invest KES 30,000,000 in the United States for 6-months.

Compute the gain or loss from interest rate covered arbitrage approach. (5 marks)
(Total: 20 marks)
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QUESTION FIVE

(a) Discuss four benefits that would accrue to a foreign investor investing in the intenational bonds and equity jarkets.

(4 mark5)

{b) Hightight four conditions that must be met by a subsidiary before it could be considered as a tax haven: (4 marks)

() Examine four strategies that a multinational corporation could use to hedge its economic exposure. (4 marks)

(d) (i} Explain the meaning of the term “tax drag”. : (2 marks)
(ii) The following information relates to Country A and Country B:

A B
Withholding tax rate 25% 15%
Dividend yield 2.5% 2.5%

Fidel Okumu; an investor from Country C has Sh.1 million to invest.

Required:
Advise Fidel Okumu on which Country to invest in by computing the tax drag arising from the difference in
tax rates between Country A and Country B, {6 marks)
@ (Total: 20 marks)
v
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kasneb
CIFA PART III SECTION 6

INTERNATIONAL FINANCE

FRIDAY: 24 May 2019 S Time Allowed: 3 hours,

Answer ALL questions. Marks allocated to cach question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a)

(b

Your country has organised a stakeholders’ forum to discuss the “debt crisis™ following sharp criticism from the
industry players who have accused the government of an insatiable appetite for borrowing.

As a young CIFA graduate. you have been selected on behalf of the National Youth Forum to make a preséntation on
“the effects of a debt crisis on an economy”, )

Required:

With reference to the above statement:

(i) Propose five measures that the government of your country could put in place to mitigate against a possible
debt crisis on an economy. _ {5 marks)

(i) Analyse three risk exposures that your country is likely to face from external borrowing. (3 marks)

Over the past five years, the exchange rate between the United States dollar, USD, and the Euro, EUR, has been
fluctuating in a relatively wide range. The EUR was quoted as high as 1.39 and as low as 1.05 against the USD. One
currency forecaster was recently quoted saying *1 expect the currency pair to return to parity soon™ while other experts
expect a significant weakening of the USD.

Recently. the exchange rate between the EUR and USD was quoted as follows:

Spot rate: I EUR = 1.160 USD
t-year forward rate: 1 EUR = 1,199 USD
Required:
(i) Comment on the nominal one-year interest rates in the US and the Eurozone based on the above statement.
2 marks)
(ii) Assuming an inflation rate of 3% in the LS and 1.8% in the Eurozone over the next 12 months, determine the
theoretical value of the exchange rate between the USD and the EUR in one year based on the relative
purchasing power parity { PPP) theory. (3 marks)
(iii) An analyst claims that based on the theory of absolute purchasing power parity the “USD is undervalued” at

the current level.

Explain the law of "abselute purchasing power™ and based on this law, explain the analyst's statement that
the “USD is undervalued™, {4 marks)

{iv) Describe three factors that could determine the exchange rate using the monetary approach model. (3 marks)
(Total: 20 marks)
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QUESTION TWO

(a)

(b}

(c)

Explain three strategies that a multinational corporation (MNC) could apply to hedge against each of the following
exposures:

(i) Long-term transaction exposure. _ (3 marks)
(i) Economic exposures. ‘ _ {3 marks)
HZ Limited uses probabhility distribution to forecast exchange rates.

The company is considering borrowing in Euros for one year. HZ Limited finds that the quoted interest rates for the
Euros is 8% and the quoted interest rates for the United States Dollars (USD) is 15%.

The company then develops a probability distribution for the Euros possible percentage change in value over the life
of the loan as provided below:

Changes in value of Euros over the life of the loan Probability
{%) (%)
-6 5
-4 10
-1 15
i 20
4 20
6 15
8 10
10 5
Required:
The effective interest rate for HZ Limited’s loan. (4 marks)

Sumeka Limited, a Kenyan based company intends to invest in a capital project to be based in Jinja, Uganda.

Additional information: .

1. The project will commence on 1 January 2020 and Ush.40 million will be incurred to buy the machine. The
machine will be depreciated on a straight line basis over the project’s useful life estimated to be 4 years.

2. An additional Ush.24 million will be required for working capital on commencement of the project. This
amount will however be recovered in full at the end of the project’s useful life.

3. Annual revenue from the project are estimated as follows:

Year Sales

{Ush.million)

2020 30

2021 60

2022 90

2023 60

Variable operating costs are expected to be 20% of the annual revenue.

Annual fixed costs are estimated at Ush.2 million.

The corporation tax rate in Uganda is 30% (Assume no taxation of cash flow in Kenya).

The exchange rates between the Kenyan shilling (Ksh.) and the Uganda shilling (Ush.) over 4-year period is

as follows:

AT

Ush./Ksh.

I January 2020 18

31 December 2020 20

31 December 2021 22

31 December 2022 24

31 December 2023 26
8. All cash flows are expected to accrue at year end.
9. The cost of capital for the project is 10%.

Required:
i The net present (NPV) of the project. (8 marks)

(ii) Advise Sumeka Limited on whether to undertake the capital investment based on your results in (<) (i) above.
(2 marks)
{Total: 20 marks)
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QUESTION THREE

(a)

(b)

(<)

Tax avoidance is part of tax management strategy employed by financial managers in the world.

In light of the above statement, assess three organisational structures that multinational companies (MNCs) could
employ to reduce their tax liabilities. (6 marks)

Paroma Ltd. is a company incorporated in Kenya to manufacture and distribute body sprays. Curreritiy. the company
has 3 wholly owned subsidiaries in three African countries.

For the year ended 31 December 2018, Paroma Ltd. is expected to receive the following dividends from each of the
three subsidiaries (net of tax in the respective foreign country):

Subsidiary Country Dividends received Income tax rate
Sh.-000” {%e)
I X 900 40
2 Y 1,200 35
3 Z 2,250 25

Additional information:

1. The dividends received from the subsidiaries are taxable in Kenya at the rate of 30%. The taxable amount of
the dividends is the gross figure before deducting foreign tax.

2. Kenya has a double taxation agreement with countries X. Y and Z. Tax relief is therefore offered in Kenya
for the foreign tax though the relief does not exceed the amount of tax in Kenya.

3. The double taxation relief on the foreign tax is provided even where Paroma Lid. channels the dividends

through another subsidiary located in a tax haven country.

Required:

The tax payable in Kenya assuming Paroma Lid. receive dividends:

(1) Directly from the respective subsidiaries. {5 marks)
(ii) Through the subsidiary located in a 1ax haven country. {5 marks)

Consider the following bank quotation as provided by Mac Bank Limited of South Africa:
1£=ZAR18.125

I$ = ZAR12.750
1£=3%1475
Where: ZAR = South Africa Rand
£ = British pound
h = LUinited States Dollar (USD)

Suppose one of your client. Mr Tembo holds ZAR 900.000.

Required:
Using the triangular arbitrage, determine whether an arbitrage opportunity exists and advise Mr. Tembao: (4 marks})
{Total: 20 marks)

QUESTION FOUR

(a)
(b)

(c)
(d)
(e)

Discuss three techniques of assessing political risks in the context of international business, (3 marks)

Many governments across the world have been accused of gwmg incentives to Foreign Direct Investments (FDIs} at
the detriment of their home enterprises. .

Critique the above statement by outlining the incentives that are provided by vour government to FDIs. (3 marks)
Summarise four ethical dilemmas associated with e-commerce in a global business arena. {4 marks)
Argue five cases against free trade policy in your country. (5 marks)
{i} Explain the term “official reserves” as used in international trade. () mark)
(ii) Outline four components of official reserves. . (4 marks)

{Total: 20 marks)
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QUESTION FIVE

{a)
{b)

{c)

Suggest six benefits that could acerue to a country that uses a flexible exchange rate regime. (6 :narks)

In the modern financial market, some African countries are issuing Eurobonds to fund long-term developnicnt as most
of their annual budgets are always in deficit positions. Contrary 1o the perception that these countiics have high
political risks. the uptake of these debt instruments have surpassed expectations.

Required:

With reference to the above statement:

(i) Explain three reasons why Eurobonds are usually oversubseribed by African countries, (3 marks)
(i) Discuss two demerits of Eurobonds to issuing countries. ' ' (2 marks)

Madi International Limited is a multinational company with its headquarters based in London, United Kingdom. The
company has invested heavily in Asia, America and some parts of Europe. Madi Limited is considering expanding its
operation in seme 3 selected countries in Africa and a research analysis of factors affecting political risks in these
countries has been obtained.

The table below shows the relevant variables on a scale of - 10 to +10, with -10 being the most adverse score and +10
being the best possible score:

Scores
Variable Country (X) Country (Y) Country (Z)
Economic growth 6 8 4
Political stability 4 -3 6
Cultural compatibility 3 0 4
Interest rates volatility -7 -3 -5
Inflation 8 -5 6
Currency convertability -3 6 -3
Investment incentives -2 8 4
Natural resources 3 7 -2
Labour supply 3 8 2
Required:
(i) [nterpret the above analysis in relation to investment potential in Africa. (5 marks)
(ii) Highlight four other variables not covered in the above analysis that would have a potential of influencing the
decision on whether to invest in Aftica. (4 marks}

(Total: 26 marks)

CF62 Page 4
Out of 4



Present Value of..l. Re.ceived al the lind of 1 Periods:
PVIEF, = (1+ry = (1+1)”

18%

Period 1% 24 EY % 5% 6% ™ 6% 9% 10% 2% 14% (3% 18% 20%  24%  PB% 3% 6%
1. 8801 9804 9708 OR1S . 9S24 9434 9ME 9259 9174 9091 Y29 ATIZ BGSE 8621 B4TS 8333 BOGS .7E13 7576 7353
2 0803 9612 9426 9246 9070 8000 8734 BST3  EN{T BG4 TOT2  7ESS  FSE1 7432 TIB2 6344 BSO4  B10M 5739 5407
3 8706 5423 9151 P90 BE3A  §396 @163 938 TT22  7TMI F118 5750 6575 6407 5084 5787 5245 4766 4MB 2975
4 9810 9738 9885 .B348 8227 79X 76TH .7IS0 TOMA 6830 6355 S92 ST1e . (5623 5158 4823 4230 3725 3294 3973
s 8515 G057 0626 .B19  7O35 7473 7130 ABOE 6495 6209 56T4  S194 4877 ATR1 43T1 4019 349% 2910 2495 2148
‘6 9420 $.B8B0 8375 7903 . 7462 7050 6663 6302 .3963 5645 5066 4556 4321 4104 304 3WM9 2751 21274 180 1590
7 9227 8706 . 8131 7599 7107 6651 6227 5635 547G 5132 4523 3996 3759 35 3138 279 A28 NTI6 1492 1162
8 9235 B8535 7894 7307 6766 . 6274 3820 5401 5019 4663 4039 3506 3269 3050 2660 2326 4789 1388 1085 .0as4
9 .9143 8360 7664 _TOZE 6446 5919 5435 S002 4604 4241 3606 3075 2843 2630 2255 1938 1441 1084 0822 0526
10 B053 8203 7441 L6756 6139 5584 5083 4632 4224 3855 3220 2607 2472 FWT  A¥N 1615 1464 0847 0623 0462
1 8961 BO43 7224 G496 SB47  S268  4TS1 4209 4TS 3505 2875 2366 2143 1954 619 1346 0938 0662 0472 040
12 - 8874 TBBS  T0N4 6246 (5568 4970 4440 3971 3555 ME6 .236T ROVE 4869 1685 1372 1122 .OTST 0517 0357 0250
13 8787 7M. 6810 6006 5303 4688 4150 I6TT L3262 2BST 2292 AB21 4625 1452 1163 093F 0610 Dad4 03T 0184
14 BTO0 759 G611 STIS 5051 4423 MATE 3405 2992 2633 2046 1597 1413 1252 0805 LOTTY 0492 .06 0205 0135
15 8613 7430 419 5553 4810 4473 3824 352 2743 2384 1827 1401 9229 1079 0833 06495 0387 0247 0155 0089
16 8528 7284 6232 5339 4581 3936 33T 2919 2519 2176 1€ 1229 1069 0930 0708 0341 0320 0193 0118 0073
17 B3ad 7142 BOS0 5134 4363 ATI4 MEs 2703 2311 878 1456 1079 0923 0802 0600 0451 0258 015G .008% QUS4
18 8260 .700Z 3574 4936 4155 3503 2959 2502 2120 1798 1300 0945 0808 0651 .0508 0376 0208 oi1e 0088 0029
19 8277 6664 5703 4748 3957 3305 .IV65 2T 14$ 1635 9161 0629 0703 0596 D431 O0M3 0168 0092 005t 0029
20 8195 6730 5537 4564 3769 3118 2584 2145 1784 1486 §037 0728 0511 0514 0385 0261 0135 0072 0038 00N
25 7798 6095 4776 3751 2953 .2330 .tB42 1460 1160 0923 0586 0379 034 0245 0160 0105 0046 0021 0OI0 0005
30 7419 5521 4120 3083 2314 ATd1 4314 0094 074 0573 0334 0196 0151 0116 0070 0042 D016 0006 0002 DD
40 6717 4529 3066 .2083 .1420 0972 0860 0460 OMG 0221 D107 0053 0037 0026 0013 .00OT 0002 .00OH
S0 6080 375 2281 1407 08T2 0543 0339 0213 0134 0065 0035 0014 0009 0006 0003 000t
60 5504 3048 1697 0951 0535 003 0173 0099 0057 0033 0011 0004 0002 00O
* Tha factor is Zevo ta four decimal places
. s JEPN . e ae 3 .
Present Value of an Annuity of | Per Period for n Periods:
L
1-
1
" L (LY
PVIF = = T .
U=t {14
T80 M
By 4%, 2% 3% a% % 6% % % o, 10% = 12% 14% 15% 165% i8%  20% 244 8% I
; us:m 09804 0.9709 09615 09522 05434 0936 09259 0.974 09091 0FI29 06772 06696 08521 08475 08333 08065 0.7913 07576
19704 19416 1.8135 18861 (BSSJ  1B334  1.BOBG 17933 17591 1.7I55 16801 16467 16257 1.6052 1.5656 1.32T8 14568 1.3916 13315
3 15410 28833 20206 2.7TST 27232 26730 2.6243 2577t 25113 24669 24018 23216 228327 2245% 21743 2.1065 1.9813 1.8684 17683
4 35020 380Y7 37171 26299 35460 34651 33877 321 22397 699 30373 29137 26550 27987 2.6901 25807 24043 22440 20957
5 485 47135 45797 44518 43295 42124 49002 3.9927 38997 37908 36046 34331 23522 32743 31272 20906 27454 25320 23452
& 5785 56014 54172 52421 50757 49173 47565 46229 44859 43553 4144 1BEET 37843 36647 24976 3.3255 30205 27594 25142
T BTB2 £4720 62303 60021 57964 55924 536893 52064 5.0330 4.6664 435638 42682 41604 40386 238115 I6046 32423 28370 26774
8 76557 73255 T.0197 67327 64632 62090 S9T13 57466 55340 5.3MT 49676 446385 44873 43436 40776 28372 24717 10758 27EE0
9 85660 8.4622 7.7861 74353 T.4078 6BOIT B5152 6.246% 59952 57550 53202 49464 ATTI6  4.6055 43030 4030 35655 01847 28681
10 94712 89826 B.5302 0.1109 T.7217 73601 7.0236 67101 6.4177 61446 56507 52461 S0183 4.8332 44541 41925 236019 32689 2.9304
11 103676 9.7969 9.2526 B.7605 03064 78969 T4987 T.1390 60051 64951 59377 54527 52337 50286 46560 43271 37757 33351 29776
12 11,2551 10,5753 9.9540 9.3851 0.8633 63830 7.9427 75360 7.1607 68137 61944 56600 54206 54971 47932 44397 36514 33968 10133
13 121337 11,3484 10,6350 9.9656 9.3936 6.8527 03577 T.9038 T.4069 71034 64235 58424 S$.5631 5.2423 49095 45327 39134 34272 30404
14 120037 12,1062 11,2961 10.5631 9.6906 92950 87455 82447 7.7062 7.366F 66202 6.0021 57245 54675 5.0081 46106 38616 34507 10600
15 12.8651 128493 11,9379 11.1184 103797 97122 91079 05595 90607 76061 68109 £1422 SB474 55755 S5.0016 46755 40013 34834 30764
16 147179 135777 12,5611 19.6523 10.0378 101059 94466 9.8534 B.3126 7.9237 69740 62651 59542 356685 51624 47296 40313 35026 30892
17 155623 14.2919 131661 12,4657 11.274f 104773 9.7632 914216 65436 B.0216 7.4196 63729 £0472 57487 5.2220 47746 40591 35177 3.0974
189 163983 14,9920 13.7535 126553 11,6896 10.8276 10.0591 93719 E7556 B2014 72497 64674 61280 58178 52732 46122 40799 35294 31038
19 17.2260 156785 143239 131339 1200853 113594 103356 9.6036 63501 83649 736856 65304 5159092 S87TI5 53162 48435 4.0967 35386 31090
20 1B.0456 16.3514 148775 12.5503 124622 11.4699 10.5940 98181 94285 65136 74654 KE2M  £.2593 59208 53521 4¢8696 41103 35458 3 1129
25 220232 195235 17.4131 156221 14,0939 127834 11.650¢ 106748 38226 90770 78431 68723 £4641 G091 54669 49476 41474 3.5640 ) 1220
30 25.B0TT 223965 15.6004 17.2920 153725 $3.76438 12.4G80 11.2576 10,2737 54269 Q0582 7.0027 45660 61772 5.5168 4.9789 41601 35693 11247
40 \az.sam 27,3555 2241498 19.7920 17,1591 15.0463 133347 11,9246 10.7574 57731 02438 71050 66418 62335 $.5402 49966 41659 3ST2 I 1250
50 391961 31,4236 257298 214822 18,2559 157619 138007 122335 (09617 99148 B3045 71327 6£.6605 62463 I.5541 49395 41666 35714 11250
BD 449550 34.7609 27.6756 22.6235 18.9293 16.1614 140392 11.0480 99672 £3240 71404 §6651 62402 55553 49959 41667 35714 11780

12,3786



kasneb

CIFA PART 111 SECTION 6

INTERNATIONAL FINANCE

FRIDAY: 3¢ November 20_18. _ Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL vour workings.

QUESTION ONE

(@) Itighlight five functions of the International Monetary Fund (IMF) in globa$ trade. (5 marks)
(b) The following information relates to the Republic of Kanzaland for the year ended 3| December 2017
Sh.“Billions™

Export of green tea and coffee berries 3.000

Import of goods including automobiles and textiles 5.000

Receipts from interest and dividends 1,500

Paxments for dividends and royalties 1,000

Gifts from abroad 950

Gifis 1o foreign countrics 1.050

Realised forex loss 2

Required: .

(i) Current account for the vear ended 31 December 2017, (5 marks}

(i} Interprret the results obtained in (b) {i) above. (2 marks}

{iii) Ehumerate two strategies that the Republic of Kanzaland could take in order to improve its current account

position. (2 marks)

() In 2008, Satoshi Nakamoto conceptualised the distributed block chain technology which gave birth to digital currencies.

To date, eryptocurrencics have revolutionised the way interational payment systems and global forex online trading are
being undertaken with major multinational corporations accepting cryptocurrencies as a mode of payment.

Required:
In light of the above statement:

(i}

{ii)

Desceribe three benefits that coudd acerue 1o a multinational corporation that uses cryptocurrencies in conducting
intermational business, (3 marks)

Argue three cases why central banks or governments of inany countries have been reluctant ta embrace digital
currencics as a form of loreign exchange. (3 marks)
(Total: 20 marks)

QUESTION TWO

(a) Explain the following terms as used in exchange rate regimes for countries that have their own currency:
(i} Currency board sysicm. {1 mark)
(it) Fixed parity. 1 mark)
(iti) Target zone. {1 mark)
(iv) Managed Hoat. (P mark)
(v} Independent float. (1 marks
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{b)

Assume that annual interest rates are & per cent in the United States and 4 per cent in Japan. The spat rae s 120
Japanese Yen (JPY) per United States Dollar (USD) and the one-year forward rate is 114 JPY/USD.

Reguired:
(i} Explain whether the United States Dollar (USD) is trading at a torward premium or at a forward discount,
{1 mark)
i Establish whether the interest rate parity holds. _ (1 mark)
(iti) Hlustrate how a bank using a sum of 10 million USD could 1ake advantage of the covered intevest arbitage il
any. ' (3 marks)
(iv) Determine the forward rate that will prevent an arbitrage oppertunity 1o take place. {1 mark)
{c) (i) There is a difference in the tax liability levied on foreign-source of income depending upon whether u foreign
branch or subsidiary form of organisational structure is sciected as a form of foreign affiliate.
Elaborate on the above statement. (-} marks)
(i) Shapiro Limited. a company based in the United States (US) is considering establishing an adfiliae operation i
Nairobi City. Kenya. The fum is undecided whether to establish the atliliate as a branch operation or a whelly-
owned subsidiary. Kenya taxes income of both resident corporations and branch operations at a lat rawe oY
30%, 1t also withholds taxes al a rate of 15% on dividends paid by resident corporations (o residenis ol the 158,
The US has an income tax rate of 33% on income carned worldwide, but gives a tax credit for taxes paid to
another country.
Required:
Advise Shapiro Limited on whether to establish a branch or a subsidiary for the affiliate, (4 marks)
(Total: 20 marks)
QUESTION THREE :
{a) In an integrated world financial market, a tinancial crisis in a country could be quickiy transmitted to other countries
causing a global financial crisis.
In reference (o the above statement, discuss four measures that could be instituted to prevent recurrence of a global
financial crisis. {4 marks)
(b} puppose that Kenya exports vegzetables to United Kingdom (UK) and imports machinery [rom UK. The outpui per
pp ya exp getab 2 p ) put
worker per day in each country is as lollows:
Ouipuot per worker per day
Machinery Yegetables
United Kingdom 8 16
Kenya 4 32
Required:
(i) Identify the country which has an absolute advantage in the production of vegetables and machinery. (2 marks)
(n Calculate the opportunity cost for each country. (2 marks)
(c) Samson Mwongela specialises in cross-rate arbitrage.

He notices the following quotes:

American Terms European Terms
Bank quotations Bid Ask Bid Ask
British pounds, GBP (£) 1.4650 £.4655 0.6824 0.6826
Euros, EUR (€) 12233 £.2238 08171 0.8175
Required:
{i) Explain the term “cross-exchange ratc™, (1 mark)
{il} The EUR/GBP cross-rate bid-ask spreads. (2 marks)
(i) The GBP/EUR cross-rate bid-ask spreads. {2 marks)
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(d) Leo Gold Mining Company, a firm based in the United States (US) holds an asset in Germany and faces the following,

scenario:
State Probability Spot rate S R |
o ($/€) ©) &3] :
1 0.25 120 1,500 1,800 ;
2 0.25 110 1,400 1,540 p
3 0.25 1.00 1,300 1,300 - -
4 0.25 0% - . E 1,200 - HOBO:

Where: P* is the euro price of the asset
I’ is the dollar price of the asset
€ is the currency symbol for euro
$ is the currency symbol for Unitéd States dollar

Required: ' - o ' .

(i) Compute the exchange exposure faced by the US firm. (3 marks) |1

(ii) The variance of the dollar price of this asset assuming that the firm remains unhedged against the exchange !
exposure. (2 marks)

(iii) The variance of the dollar value of the hedged position. (2 marks) ;

{Total: 20 marks)

QUESTION FOUR

(a) In refation to foreign direct investments (FDIs):
(i Explain the internationalisation theory of FDI. o ' (2 marks) ‘;
(i1} Suggest four reasons why multinational corporations (MNCs) would Prefer to use FDI instead of direct-export :
while venturing into foreign markets. (4 marks)
(b) Increased globalisation of world equity markets has seen cross-listing of shares by multmat ional corporations explode in

recent years.

Required:
(i) Cxamine three benefits that could accrue to a company that cross-lists its equnty shares on more than one
national exchange. (3 marks)

(ii) Explain three barriers to cross-listing of equity shares of a company. C © (3 marks)

{c) Phonex Multinational Corporation, a South Africa based company uses a decentralised system of cash management
whereby Phonex MNC and its affiliates each maintain their own transaction and precautionary cash balances.

The cash needs for Phonex and its affiliates are normally distributed and independent from one another. It is the
corporate policy to maintain two and one-half standard deviations of cash as precautionary holdings. At this level of
safety, there is a 99.37% chance that each affiliate will have enough cash holdings to cover transactions.

As a Certified Investment and Financial Analyst (CIFA) management trainee in the company, you have noted that there
is over provision of precautionary cash balances. This provision could be reduced substantially if the company could
convert to a centralised cash management system.

The fellowing information is provided:

Affiliate Expected transactions One standard deviation .
ZAR ZAR

South Africa 125,000 40,000

United States 60,000 25,000

United Kingdom 95,000 40,0600

Singapore 70,000 35,000

Where: ZAR = South Africa Rand
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Required:

(1) Determine the amount of cash that Phonex MNC needs to hold in precautionary balances undu the current
' decentralised cash management system. (4 marks)
(i1} Advise Phonex MNC on the level of pl‘eC’lLI[IOI'l’ll'y cash it should hold under a centralised Lmh mianagerienl
syslem _ {4 narks)

{Total; 2¢ inarks)

QUESTION FIVE .
(a) Distinguish between “foreign bonds™ and “Eurobonds™. (2 marks)

(b) Country risk is the chance that a country could change its policies and therefore affect the. ability of borrowers lrom
those countries 0 honouwr their loan obligations.

In light of the above statement, analyse three sources of information that could be used to assess country risk. (3 marks}

(c) Assess three corporate characteristics that could influence the multinational corporation capital structure decisions.
(6 marks}

(d) Olake Advisors, an international pension fund manager, uses the concepts of Purchasing Power Parity (PPP) and the
International Fisher Effect (IFE) to forecast spot exchange rates.

The following intormation has been provided:

Base price level 100

Current United States (US) price level 105

Current South African (SA) price level Hi

Base South African rand (ZAR) spot exch'moe rate $0.175

Current South African rand (ZAR) spot exchange rate $0.158

Expected annual US inflation 7%

Expected annual South African inflation 5%

Expected US One-year interest rate 10%

IExpected South African onc-yvear interest rate 8%

Required:

Calculme the following exchange rates:

{i) The current ZAR spot rate in USD that wouid have been forecast by PP, (2 marks)

(ii) The expected ZAR spot rate in USD one year from now using the IFE, ' (2 marks)

{iii} The expected ZAR spot rate in USD four years trom now using PPP. (2 marks)
(e} Falcon Multinational Corporation has an optimal debt ratio of 40%. The company also has a 12% cost of equity and 8%%

before tax borrowing rate.

The marginal 1ax rate for the company is 35%.

Required:
(i) The weighted average cost of capital (WACC) of the company. (1 mark)
(ii) The cost of equity for an equivalent all-equity financed firm. (2 marks)

(Total: 20 marks)
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CIFA PART HI SECTION 6

INTERNATIONAL FINANCE

FRIDAY: 25 May 2018, : Time Allowed: 3 hours.

Answer ALL questions, Marks allocated to each question are shown at the end of the question. Show ALL vour workings.

QUESTION ONE :

(a)

(b}

(c)
(d)

{e)

The balance of payments is a summary of all financial flows between a country and all other countrics over a specific
period,

In light of the above statement, identily three components of the balance of payments. {3 marks)

“Africa must unite” wrote Kwame Nkrumah, Ghanaian first President, in 1963, lamenting that African couniries sold
raw materials to their former colonisers rather than trading among themselves. I1is Pan-African dream never became a
reality. However, that spirit of unity now animates a push for an African Continental-Free-Trade Area (ACITTA),
involving all 55 countries in the region of which 44 countries had already signed a pact establishing the free trade arca
by March 2018.

In refation to the above statement, propose five factors that could have influenced the integration of the African markets.
(5 marks)

Distinguish between “absolute purchasing power parily” and “relative purchasing power parity™. {2 marks)

Assume that the South African Rand {(ZAR) cxhibits a 6-month interest rate of 6% while the Kenyan shilling (KLES)
exhibits a 6-month interest rate of 5%. Further, assume that the KES is the home currency.

Required:

(i) Using the interest rate parity, compute the forward rate premium of the South African Rand (ZAR). (2 marks)

(i} Based on your results in (d)(i} above, compute the 6-month forward rate asuming that the South African Rand
(ZAR) current spot rate is KES 8. 1/ZAR. {2 marks)

Quantum African Limited is a Kenyan-based multinational company which owns 100% subsidiaries in Mali. DRC,
Togo and Chad. Due to DRC and Togo having their general elections in 2017, their cash inflows were refatively lower
than the forecasted.

The following were cash flows for the month of December 2017:

Paying subsidiary Amount Ksh.*million™ Recciving subsidiary
Chad 50 DRC
Chad 40 Mali
DRC 25 Chad
DRC 20 Mali
DRC 30 Togo
Togo 20 DRC
Togo 25 Mali
Mali 40 Chad
Mali 60 DRC
Mali 50 Togo
Required:
(i {llustrate how the subsidiaries could benefit from multinational netting. (5 marks)
(ii) Explain how the subsidiaries could benefit from multilateral netting itlustrated in (e)(i) above. {1 mark)
- {Total: 20 marks)
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- QUESTION TWO :

Evaluate three strategies that the government of j}buf couniry could apply to improve foreign exchange restrictions.

(a)
(6 marks)
(b) Explain thiee economic factors that should be considered when measuring the country risk. {3 rarks)
(<) (i) In relation to international investments, differentiate between “covered interest arbitrage” and “‘interest
hedging”. (2 marks)
(ii) Royal Airlines is intending to hedge 1,200,000 Kenya shillings (KES) in ticket sales receivable in 90 days. The
following exchange and interest rates arc applicable,
Spot rate: KES/ZAR 7.9
90-day forward rate KES/ZAR 8.0
90-day Kenya interest rate 25%
180-day interest rate in South Africa 7.0%
Note: ZAR stands for the South African Rand.
Required:
Using suitable computations, advise Royal Airlines if there exists any arbitrage opportunity. {6 marks)
(d) The exchange rate between Japanese Yen (JPY) and the United States Dollar (USD), USD:JPY is 119.05 — 121.95. The
exchange rate between the Euro, EUR and the USD, USD:EUR is 0.792 — 0.7932.
Required: '
(i) Catculate the direct quote between the JPY and EUR. (2 marks)
(ii) Identify the bid price and ask price based on your answer in (d) (i) above. {1 mark})
) (Total: 20 marks)
QUESTION THREE
(a) Propose five factors that could complicate capital budgeting for multinational corporations relative to domestic firms.
{5 marks)
(b) Explain the following Theories of international trade:
(i) Comparative advantage Theory. (1 mark)
(i) New trade Theory. (1 mark)
(i) Location Theory. (1 mark)
(iv) Internalisation Theory. {1 mark)
{c) Tembo Limited, a company based in Kenya intends to invest in the United States of America (USA). The project will

entail an initial cash outlay of 250 million United States dollars (8). The project is expected to generate the following
cash flows over its five-year life:

Year  Cash flow (& “million™)
| 70
o0
100
120
30

o ofa W b

The current spot exchange rate is 100 Kenya shillings per United States dollar ($). The risk-free rate in Kenya is 10%
and the risk-free rate in the U.S. is 6%, Tembo Limited’s required rate of return on the project is 16%.

Required:

(i) The net present (NPV) of the project. . (10 marks)

{ii) Advise the management of Tembo Limited on whether to undertake the project based on your answer in (c) (i)
above. {1 mark)

(Total: 20 marks)
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QUESTION FOUR

(a)
)

(c)

@

(e)

Distinguish between “Eurobonds”™ and “dual-currency bonds™ as used in international financial markets. (2 markz)

Philip Mackenzie, a United States (US) resident, holds a piece of land in the city of London which he intends to sell in
one year’s time. It is expected that, the British economy will boom in the near future and the value of the land will be
£2.000 while the value of the British Pound (£} will be worth $1.40/£. If the British economy slows down, on the other
hand, the land will be worth £1,500 but the exchange rate will be $1.50/£. Philip estimates that the Britizii economy will
experience a boom with 60% probability and a slow down probability of 40%.

Required:

() Estimate Philip Mackenzie’s exposure to the exchange rate risk. (4 marks)
(ii) Compute the variance of the dollar value of land that is attributable to the exchange rate uncertainty. (2 marks)
{iii) Explain how Philip could hedge against foreign exchange exposure based on your answer in (b) (i) above.

(1 mark)

Many financial managers prefer to use options to hedge their exposure because it allows them to capitalise on favourable
movements in the exchange rates. In contrast, a company using forward contracts avoids the downside but also loses the
upside potentials as well.,

Comment on this strategy. (3 marks)
Johnson Mwandawiro is a portfolic manager at Amanda Asset Managers (AAM), a firm based in the United States.

AAM manages a porifolio of $100 billion from its high net worth clients. Mwandawiro is contemplating investing part
of the funds in emerging markets equities to maximise its investors returns,

Required: !
Advise the portfolio manager on two major factors that he should consider before investing in the emerging stock
markets, (4 marks)

HZ L4d., a subsidiary of a Kenyan company based in Uganda had the following balance sheet as at 31 December 2017:

Assets;
UGX “000™
Cash and marketable securities 14,000
Accounts receivable 36,000
inventory 62,000
Net fixed assets 126,000
238,000
Liabilities:
Accounis payable 28,000
Short-term debis 16,000
Long-term debts 90,000
Equity 104.000
238,000

The current spot rate is KES 0.02745/UGX

Note: UGX is the symbol for the Uganda shilling.

Required:

Calculate HZ Ltd."s accounting exposure under the following methods:

{1 Current/non-current method. {1 mark)
{ii} Menetary/non-monetary method. . . (1 mark)
(i) Temporal method, : (1 mark)
(iv) Current rate method. ' (! mark)

{Total: 20 marks)
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QUESTION FIVE

(a) (i) In the context of international tax environment, illustrate how double taxation could affect all countries of the
: world if they were to tax their residents worldwide income and the income they earn within their territoriai
boundaries. {4 marks)
(ii) Discuss two methods that could be used by the tax authorities to eliminate the ne:gative effects ot double
taxation. (2 marks)
(b) Assess three methods that could be used by multinational corporations (MNCs) to repatriate blocked funds from a host
country, . {6 marks)
(c) Naibu Bank intends to open an overseas branch in the next two years.
* Examine five benefits that could accrue to the bank from undertaking such a move, : (5 marks)
d) Babito Limited, a successful Kényan multinational corporation is considering to seek for financing for a project based in
Rwanda. The following information is provided:
l. Kenyan risk-free interest rate. 6%
2, Rwandan risk-free interest rate, t0%
3. Risk premium on Kenyan shilling (KSh.) denominated debt provided by Kenyan creditors. 3%.
4, Risk premium on Rwandan Franc (FRw) denominated debt provided by Rwandan creditors. 5%
5. Beta of the project. 1.5
6. Expected Kenyan market return. : 14%
7. Corporate tax rate in Kenya, 30%
8. Creditors will likely not allow more than 50 percent of the financing to be in the form of debt.
Required:
(i) Cost of Kenyan shilling-denominated debt. (1 mark)
(i) Cost of Rwandan Franc-denominated debt. (1 mark)
(iti) Cost of Kenyan-shilling denominated equity. (1 mark)

(Total: 20 marks)
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CIFA PART III SECTION 6

INTERNATIONAL FINANCE

FRIDAY: 1 December 2017, Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a)
(b)

(<)

(d)

Examine six causes of balance of payments (BOP) disequilibrium in a country. (6 marks)

Capricon Limited, 2 company based in Kenya, exports milk to Ghana but the strong Kenyan shilling (KES) against the
Ghanaian Cedi (GHS) hurts sales of the company's mitk in Ghana. In the Ghanaian market, Capricorn Limited faces
competition from mitk producers in Cameroon and Mali whose currencies remain stable relative to the value of Cedi.

Required:

Suggest four measures that you would recommend to Capricon Limited to enable it maintain its market share in
Ghana. (4 marks)
(i) Explain the term “currency crisis™. {1 mark)
(ii} Describe five warning signs of a currency ctisis in a country. (5 marks)

You have recently been hired as a financial analyst at Urembo Limited, a locally incorporated company that deals in
beauty products imported from the United States of America (LUSA). As the person in charge of negotiating rates of
exchange at Urembo Limited. you have realised thar the Kenyan shilling has recently been weakening against the
United States Dollar (USD), the currency that settles the suppliers payrents.

Assume that you have received real time spot quotations from your local bank as follows:

| = $1.9724
L€ = $1.3450
P = €1.4655
Required:

Hlustrate how you could benefit from triangular arbitrage when settling a payment worth 5 million USD. (4 marks)
(Total: 20 marks)

QUESTION TWO

(a)
1)

Identify four participants in a foreign exchange market, citing one role played by each. {4 marks)

The following information relates to exchange rates in the United States and Canada:

Spot exchange rate (CAD/USD) 1.2923

1 — year treasury bill interest rate in the United States 0.55%

1 — year treasury bill interest rate in Canada 0.95%

Required:

(i) Compute the one-year forward rate, (2 marks)
(ii) Interpret the results in (b) (i) above. {1 mark)
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(<) Describe the following types of fixed exchange rate regimes:
(i) No separate legal tender system. (1 mark}
(ii) Shared currency system. <t mark)
(iii} Currency board system. (1 mark)
{iv) Target zone system. (1 mark)
(v) Fixed parity system. (1 mark}
(d) Distinguish between “sterilized intervention™ and “unsterilized intervention™ as used in the foreign exchange market.
(4 marks)
(e) Sarah Adams, a United States of America (USA) based investor has 10,000 United States dollars {USDj}. She intends
to invest in Petho Limited’s shares, a firm quoted at the Nairobi Securities Exchange (NSE) in Kenya. The market
price per share of Petho Limited’s shares is KES 50. The spot exchange rate is LUSD = 105.20 KES.
Required:
(i) The number of Pethe Limited’s shares that Sarah Adams could purchase. (2 marks}
(i) The investor’s return assuming that in one year, the market price of Petho Limited’s shares has increased to
KES §5 per share and that the exchange rate has changed to 1 USD = (08.55 KES. {2 marks)
(Total: 20 marks)
QUESTION THREE
{a) Discuss three Trade Related Investment Measures (TRIMSs) that distorted the smooth flow of international business
and which are now prohibited by the General Agreement on Trade and Tariffs (GATTs). {6 marks)
(b} Zulu Limited is a South African company that supplies tanned leather to Shoetec iLtd., a US based company.
Zulu Limited has invoiced Shoetec Ltd. and is meant to receive 500,000 United States doltars (LiSD) in 180 days.
The following information. as quoted in the Johannesburg Stock Exchange (JSE) shows the indicative exchange rates
and interest rafes;
90 — day South African interest rate 7.75%
90 — day United States interest rate 9.25%
90 - day forward exchange rate of USD ZAR 1.080
Spot rate of USD ZAR 1.095
Note: ZAR is the South African Rand.
Required:
Determine the amount tc be received by Zulu Limited using:
(i) Forward contract hedge. (2 marks)
(i) Money market hedge. {4 marks)
{c) Advise Zulu Limited on the most appropriate hedge based on your calculations in {b) (i} and (ii) above. (1 mark)
{d) The following data obtained from Penbreak Investments Ltd. relates to inflation and interest rates movement for two
countries, Rwanda and Kenya, over the period between years 2013 and 2017
Country Exchange rate (KES/RWF) Consumer Price Index {(CPI)
Kenya 6.50 - 4.90 103.60 - 151.50
Rwanda 79.60 - 167.90
Required:
(i) If purchasing power parity (PPP) had held over this period, determine the KES/RWF exchange rate in
year 2017. (3 marks)
(i) Interpret your result in (d) (i) above. (1 mark)
{e) Discuss three services that international banks could provide to their customers. (3 marks)
(Total: 20 marks)
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QUESTION FOUR

(a)

(b)

(¢}

(i) Distinguish between the terms “Greenfield investment”™ and “Brownfield investment™ in relation to foreign
direct investments (FDI"s), (2 marks)
(ii) Citing three reasons, justify why firms prefer acquisition compared to Greenfield investmem when
conducting international business, {3 marks)

Flamingo Limited is an agro-based company incorporated in Kenya. The company intends to invest in a capital
project which will be based in Cape Town, South Africa.

Additional information:

1. The project will commence on | January 2018 with the initial capital of 5 million South African Rands
(ZAR) which will be used in acquiring agricultural machinery with an estimated useful life of 5 years.
The straight line method of depreciation will be applied.

2. To enable the firm pay land rates and other working capital requirements, an additional 2.5 million ZAR will
be required and it is expected that this amount will be recouped in full at the end of the project’s usetui life.
3. Annual sales revenue from the project are estimated as follows:
Year Revenue (ZAR) Fixed costs (ZAR)
2018 2,660,000 500,000
2019 3.500.000 780,000
2020 5,000,000 905,000
2021 4,200,000 880,000
2022 2,800,000 430,000
4, Variable operating costs are expected to be a 1/5 of the sales and are assumed 1o accrue evenly,
5. The exchange rates between the Kenya Shilling and the South Africa Rand are as toflows:
ZAR/KES
| January 2018 3.00
31 December 2018 $.50
31 December 2019 9.00
31 December 2020 9.50
31 December 2021 13.00
31 December 2022 10.30
6. All the cash flows arc expecled to occur at the year end.
7. The cost of capital for both South Africa and Kenya is assumed 1o be 12% per annun.
8. Assume that the corporation tax rate in South Africa is 30% and no further taxation will be levied in Kenya.
Required:
(i) The net present value (NPV) of the project in KES, {8 marks)
(ii) Based on your results in (b} (i) above, advise Flamingo Limited. (1 mark)
(iii) Recommend the type of hedge that Flaminge Limited, being an agro-based company, could employ to
cushion itself against the negative effects of weather. (1 mark)

As an experienced investment and financial analvst, you have been consulied by Wesco International Invesunent
Group (WIIG), a company basced in the United States which is considering setting up a subsidiary in your country. The
management of WIIG is concerned that your country is expecting to hold a general election at the end of this year.

Required:
(i) Advise WIIG on three political risks that the subsidiary might face in vour country, {3 marks)
(ii) Suggest relevant mitigating factors that WEHG could adopt 10 address the risks identified in {c} (i) above.

(2 marks)
(Total: 20 marks)
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QUESTION FIVE

(a)

(b)

()

(d)

In relation to 1the international tax environment:

(i) Describe three criteria for determining tax neutrality. (3 riarks)
(it} Examine three methods that the tax authority of your country might use to determine if transier price is
reasonable. (3 marks)
(i) Assess three merits that would accrue to a multinational corporalion (MNCY) that has a centralised cash
manager who handles all investment and borrowing for all affiliates of the MNC, versus each affiliate having
a local manager who performs the cash management activities of the affiliate only. (3 marks)
{ii) The tollowing information relates to interaffiliate cash {lows:
Affiliate Expected transactions (USD“000”) Standard deviation (USD*000")
Kenya 100 10
Uganda 150 60
Pakistan 175 30
China 200 70

Assume that the interaffiliate cash flows are uncorrelated with one another.

Required:
The standard deviation of the portfolio of cash held by the centralised depository. (2 marks)

The Basel 1} accord sets out rules on core disclesure areas that should be et by banks and which must be enforced by
bank supervisors.

In relation to the above statement, explain three disclosures mentioned in the Basel 1l accord of bank regulation.
3 marks)

Today's global market presents a variety of cthical dilemmas tor multinational corporations. This ethical decision-
making process becomes particubarly challenging when the ethical siandards in the company’s home couniry are
higher than those in the subsidiary’s markets.

Required:
in relation to the above statement, examine six unethical business practices that multinational corporation managers
could engage in while conducting international business. {6 marks}

(Total: 20 marks)
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KASNEB

CIFA PART Il SECTION 6

INTERNATIONAL FINANCE

FRIDAY: 26 May 2017, Time Ailowed: 3 hours,

Answer ALL questions. Marks allocated to each guestion are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) Examine four reasons that could motivate a company 1o consider engaging in international business. {4 marks})
(b} Among the factors that affect the financial account of a country 1s changes in the investiment climate.
In relatien to the above statement, describe four desired attributes of a goed invesiment climate for a muitinational
corporation (MNC). {4 marks)
(c) Distinguish between the following terms as used in international trade:
(i} “Comparative advantage” and “absolute advantage™. (2 marks)
(i) *Currency cocktail bonds™ and “syndicated loans™. {2 marks)
(6] Victoria Gakii, a Certified Investment and Financiat Analyst (CIFA) has been invited by the Pan African Chamber
of Commerce (PACCH 10 their annual investment conference and has been requested to make a presentation on “The
benefits of East African Comimunity trading bleck™.
Required:
Assess four benetits that she would mention in her presentation. (8 marks)
(Total: 20 marks)
QUESTION TWQO
{a) (i) Highlight four factors that could afTect the spread ar the torex market. (4 marks)
(ii} Joan Lesuda, an international money market investor is presented with a bid price of 1.0578 United States
Dellar (USD) per Eure against an ask price of 10587 1JSD per Euro.
Required:
The bid-ask spread as a direct quote from the perspective of a European investor. (2 marks})
(b) Digimax Ventures Limited specialises in the importation of computers from Argentina for sale in selected outiets in

Kenya. On 1 March 2017, the company imported a consignment worth 2.000.000 Argentine Pese (ARS). The
company would be expected to settle the amount by 1 June 2017 as it enjoys three months credit,

The spot rates on | March 2017 and 1 June 2017 are as shown below:

Date: Quole: KES/ARS
I Maech 2017 0.0125
1 June 2017 0.0122

On June 2017, the shillings futures are torecasted to trade at 0.01275 KES/ARS (Contract size: KES.2,402,000) as
at 1 March 2017.

Required:
(i lHustrate how Digimax Ventures Limited could have used a futures contract as a hedging tool indicating
any hedging gain or loss. (6 marks)
{ii) The number of futures contracts that Digimax Ventures Limited would have purchased assuming the
contract size was KES 4,000,000, (2 marks)
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(c)

(d)

(e)

Dominic Mwamba. a treasury manager at Bebra Ltd., a multinational corporation. is planning to invest the firms
excess cash in a foreign deposit account.

Required:
In relation to the above statement, justify why Dominic Mwamba would prefer to use effective yield compared to
interest rate when negotiating a deposit rate with the foreign bank. (2 marks)

Baraka Multinational Corporation (MNC}) has excess cash of Sh.100 million which could be invested in Kenya at
the prevailing interest rate of 826 per annum but is attracted to higher interest rates in Uganda.

Required:

The effective yield assuming that the Ugandan interest rate on deposit is $.5% per annum and the exchange rate at
the time of deposit is 30 Uganda Shillings per Kenya Shilling (UGS/KES) and that one year later the KES
depreciates to 28,50 UGS/KES. (2 marks)

Winnie Leticia, a foreign exchange trader assesses the euro exchange rate for three months as shown below:

Spot rate ($) Probability
1.10 0.25
1.13 0.50
115 0.25

The 90-day forward rate is $ 1.12.

Required:

Determine whether Winnie Leticia should buy or sell Euros forward against the Dollar assuming that the trader is

concerned solely with expected value, (2 marks)
{Total; 20 marks}

QUESTION THREE

(a)

(b)

(c)

Evaluate four ways in which an investor could benefit from understanding the international parity relationship.
(4 marks)

(i) Compare and contrast the three basic types of taxation that governments levy within their tax jurisdiction.
{6 marks)

(ii) Affiliate A sells 20,000 units to Affiliate B per year. The marginal tax rates for Affiliate A and Affiliate B
are 20 percent and 30 percent, respectively. The transfer price per unit is currently set at {,500 US Dollars
{$) but it can be set at as high as §1,750.

Required:
The increase in the annual after-tax profits assuming that the higher transfer price of £1,750 per unit 1s used.
(2 marks)

(i Assess four benefits of interest rate swaps and currency swaps to a multinational corporation {MNCY).
{4 marks)

{ii) Johazi Limited infends 1o borrow 30 million US dollars for a period of six vears with interest pavable
within six monthly intervals. The company could borrow from a bank at a floating rate of 182-day
Treasury bill plus 1% but would wish 1o obtain a fixed rate for the full year period.

A swap bank has indicated that it would be willing to receive a fixed rate of 9% in exchange for payments
of 182-day Treasury bill.

Required:
The fixed interest six monthly payment with the swap in place. (4 marks)
(Total: 20 marks)
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QUESTION FOUR

(a)

(b)

()

Explain the following terms in the context of international capital structure and the cost of capital:

(i) Pricing spillover effect, {1 inark)
(ii} Pricing-to-market (PTM) phenomenon. (1 mark)
The following information relates to Aquiva Limited, an electricai company located in Kenya, Nairobi Securities
Exchange (NSE) market index, and the world market index. together with the standard deviation {8D) of retusns and

the expected return (ER):

Correlation coefficients

Aquiva Limited Kenya World SD(%) ER 4o}
Aquiva Limited L.00 0.80 0.60 16 ?
Kenya 1.00 0.75 15 13
World 1.00 12 14
The risk-free rate is 5%,
Required:
(i) The domestic country beta of Aquiva Limited. (2 marks)
(i} The World beta. (2 marks)
(iii) The equity cost of capital of Aquiva Limited using the capital asset pricing model (CAPM} assuming that
the Kenyan securities market is segmented from the rest of the world. (2 marks)
{iv) Aquiva Limited’s equity cost of capital using CAPM assuming that the Kenyar securities market is
integrated with the rest of the world. {Z marks)
(v) Discuss the possible effects of internationai pricing of Aquiva Limited shares on the share prices and the
firms investment decision based on results obtained in (b)iii) and (b)(iv}) above. (2 marks)
(i) Accounting for cost of capital for multinational corporations differs 10 a certain extent from that of domestic
tirms.

[n relation 10 the above statement, explain three approaches in which transfer risk could be accounted for in
the net present value (NPV) calculations, {3 marks)

(ii) Medusa Limited intends to invest in a project costing FO0 million United States Dollars ($) with an
expected after tax cash flows of $20 million to perpetuity.

Additional information:

1. The risk free rate is 6%.

2. The asset beta s 1.5,

3. Therequired return on market is 12%.

4. The cost of debt is 8%.

5. The annual interest costs related to the project are $4 million.

6. The corporation tax rate is 30%,

Required:

The adjusted present value (APV) of the project. {5 marks)

{Total: 20 marks)
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QUESTION FIVE

{(a)

(b)
(c)

(d

The aftermath of the international debt crisis triggered a wide range of reforms particularly to the interational
banking sector. One of the requirements was the formulation of Basel 111 Accord framework.

Required:

In relation-to the above statement, describe three elements of Basel 111 Accord. (3 marks})
Discuss six strategies that could be used by a company intending to invest in a foreign market. {6 marks)
Highlight five disadvantages of the fixed exchange rate system. (5 marks)

Sunset Limited s a Kenyan based multinational company that purchases spices in bulk from foreign countries,
packages them, and sells them through three other sales affiliates namely: Liganda. Tanzania and Rwanda. The four
affiliates experience major cash {lows amongst themselves.

The following payment matrix relates to the inter-affitiate cash flows for the month of April 261 7:

Sunset Limited payment matrix

Disbursements
Receipts Kenya Lganda Tanzania Rwands Total Receipts
Sh. *million”  Sh. “million”  Sh. *million”  Sh. *million”  Sh. *million™

Kenya - 40 75 55 170

Liganda 8 - - 22 30

Tanzania 15 - - L 32

Rwanda 11 25 9 - A5

Total disbursements 34 65 84 24 277

Required:

(i Using apprepriate tables, illustrate how Sunset Limited could wse multilateral netting to minimise the
foreign exchange transactions necessary to settle inter-affiliate payments. (5 marks)

{ii) Determine the savings from the multilateral netting assuming that the toreign exchange transactions cost
the company 0.5%, (1 mark)

{Total: 20 marks)
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KASNEB

CIFA PART 11 SECTION 6

INTERNATIONAL FINANCE

FRIDAY: 25 November 2016. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings,

QUESTION ONE
(a) Analyse four components of the financial account as used in the balance of payments of a country. (4 marks)
(b} Summarise five assumptions of the theory of comparative advantage as postulated by David Ricardo (1817).
(5 marks)
(<) In an effort to iniegrate the world trade, a great milestone has been achieved towards globalisation of the world
economy. World’s businesses are turning to foreign sales and cross-border partnerships as paths towards expansion
and consolidation.
In relation to the above statement, discuss four events and trends that could have contributed to the reduced
restrictions and increased international trade. (8 marks)
(d) Explain three sources of short-term borrowing that could be used by a multinational corporation to finance its
operations. (3 marks)
(Total: 20 marks)
QUESTION TWO
(a) The value of your country’s currency has been experiencing a drastic downward decrease in value relative to other
major world currencies.
In relation to the above statement, discuss four strategies that could be adopted by the central bank of your country
to stabilise the local currency. (8 marks)
(b) Evaluate four benefits that could accrue to a multinational corporation (MNC) that uses bilateral netting. (4 marks)
() Assume that the following exchange rate information is available between the United States of America (USA) and

Britain:

USA Britain
Nominal interest rate 4% 6%
Expected inflation rate 2% 5%
Spot rate - $1.13
One year forward rate - $1.10
Required:
(i} The forward rate of the British pound (GBP) assuming interest rate parity exists between the USA and
Britain. (2 marks)
(ii) The expected spot rate of the GBP in one year assuming the purchasing power parity (PPP) holds between
the USA and Britain, (2 marks)
(iti) The expected spot rate of the GBP in one year assuming the international fisher effect (IFE) holds between
the USA and Britain, (2 marks)
(iv) Describe two methods that could be used to determine whether the purchasing power parity (PPP) exists
among countries. {2 marks)

(Total: 20 marks)
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QUESTION THREE

(a) Evaluate three financial techniques that could be used by a multinational corporation to reduce its transactics
exposure. (6 marks)
(b Jozovina Limited, a Kenyan based multinational firm, is considering investing in a project to be based in South

Africa. The project will have an initial capital outlay of 125 million South African Rands (ZAR). The project will
have a debt ratio of 60%,

The project is expected to generate the following free cash flows for the next 5 years:

Year

} 2 3 4 5

Net cash flow (ZAR “million™) 25 28 30 35 40

Additional information:

The economic data between the two countries are as follows:

Kenya South Africa

Inflation rate 14% 6%

Bond yield 10.7% 9%

Risk premium 12% 8%

Interest rate 14.5% 12%

Tax rate 30% 25%
2. The spot exchange rate is | ZAR = KES14.
3. The international Beta factor is 0.8,
Required:
(i) The weighted average cost of capital (WACC) of the project. (3 marks)
(ii) The net present value (NPV) of the project in Kenya shillings (KES). (10 marks)
(iii) Advise the management of Jozovina Limited on whether to proceed with the project based on your results

in {b)(ii) above. (1 mark)

(Total: 20 marks)

QUESTION FOUR
(a) In an international trade forum, one of the facilitators noted that the majority of the developing countries and less
developed countries normally have a budgeting deficit where expenditure exceeds revenue.

In relation to the above statememt, propose three reasons which could trigger deficit financing in a given country,

(3 marks)
(b) Assess five objectives of the European Union (EU) trading bloc. {5 marks)
(<) Discuss four operating structures that could help a multinational corporation (MNC) to manage its cash flows,
{4 marks)
(d) Assume the following information between the Canadian doltar (CAD) and the British pound (GBP):
¢ Spotrate of CAD = £0.4400
¢ 90-day forward rate of CAD = £0.4345
*  90-day Canadian interest rate = 4%
¢ 90-day British interest rate =25%
Required:
(i) The yield to a British investor who uses covered interest arbitrage. (Assume the investor invests GBP
1,000,000) (4 marks)
(ii) Propose the market forces that would occur to eliminate any further possibilities of covered interest
arbitrage identified in (d)i) above. (2 marks)
(e) Distinguish between “tax drag” and “tax haven” in the context of international tax management. (2 marks)

(Total: 20 marks)
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QUESTION FIVE :

(a)

(b}
(c)

In order to encourage foreign direct investment (FDI), many governments provide incentives to multinational
corporations (MNCs) to set up industries in their host countries.

In relation to the above statement, explain six areas of conflicts that could arise between the MNC and ‘e host
government. {6 marks)

Assess five forms of political risk that could impede the performance of a local subsidiary. { 10 marks)

Warfen Limited believes that future real interest rate movements will affect exchange rates and it has applied
regression analysis to analyse historical data so as to assess the relationship. The corporation intends to use
regression coefficients derived from this analysis along with forecasted real interest rate movements to predict
exchange rates in the future.

Required:
In relation to the above statement, explain four limitations of using regression analysis forecasting method in
predicting the foreign exchange rate. (4 marks)

(Total: 20 marks)

CF62 Page 3
Qutof3




Present Value of | Received at the End of 17 Periods:
PVIF, = W(1+ry = (1+e)”

Period

1%

2%

% a% 5%

5%

Th

8%

9%

10%

12% 14%

15%

19%

204

4%

20% N 36%

LI T

-
awvoua

A
12
13
14
15

16
17
ig
19
20

25
30
a0
50
60

9901
9803
5706
2810
8515

2420
9327
S23S
9143
9053

8963
B4
a7
B61Y
8520
a2rr
8195
7798
T418
ST

5504

5804
8612
9423
5230
9057

8880
106
B5AS

6203
8043

T30
RETs)
L0

r
1142
7002
6864
LT3

S095
5214
A529
ANS
3048

AT09 9613 9524
L4268 5246 9070
151 8BS0 9636
.898% 8548 8227
8625 4213 7838

8375 7903 ,T462
B131 T999 7107
JA%4 TWT 6768
JEEA TOXE  GAdS
T441 6736 6139

J224 6436  5Sa4T
J014 6248 5568
£0810 6006 3300
6611 57TS .S50%1
6419 3853 4810

6232 5339 .4384
6050  54M 4353
L0674 4938 41355
STCY  4T4E 3957
5831 4564 3769

AT76 3751 2953
4120 3083 2314
066 2083 1420
221 1407 0872
A637 0951 0535

G434
8300
8356
9
7472

7050
B4
3919
268
A970

A423
4T3

3346
BTH
8163
7629
T130

9259
85713
7938
1350

£302

4632

4209
39T

M0%
ns2

2919
2703
2302
T
2145

460
0460

0213
0099

9174
B417
i

£S89

3363
5470
5019
AG04
A224

3873

3262
2992
2743

2519
L2311
2120
4943
AT84

1160
0754
one
0134
0057

909
9264

By aTn2
TAT2 Te9%

T513 T8 5TS0

6355 5821

6209 SETA 3194

5066 A%%s

5132 4523 3996

AD39 3506

A1 3606 075

305 2075 2366

3166

2567 2076

2857 229 a8l

2046 1597

J2384 1827 14H

2176 83 128

A48
1799

A456 1078
4300 0946

633 1161 0829

1486

1037 0rz8

[3Y3 0334 0186

0085 0035 004

8696
-T581
B5TS
ST1e
A9T2

A3
T80
3%9
2843
2472

2149
1625
413
A229

AOES
0323

0703
0614
0451

DO3T

0092

8621
NLkr]
5407
5523
ATE1

A104

B4TS
1182

5158
A
704
138
2660

225%
A9

849
A3T2
1183
0835
0708
0431
0363

0160

0013
0003

0are
0313
0261

A010%
0042

000t

8065
5245
3411

215
2249
AT89
A442
164

o187
0610
0492
0397

0320
Q258

0168
33

0016

83 7STE Tas3
6104 5739 S407
ATER 4348 3975
3T 324 20m
2910 2498 143

T4 830 1580
ATI8 1432 4162

084 0822 0628
0847 0623 0462

0862 0472 0M0
05T 0357 0280
0404 02T 01B4
o6 0203 0135
0247 0155 Q093

0492 0118 00m
0130 0083 0054
0118 0060 0039

0072 0039 0621

A0 0010 0005

- J0om

~ Tha factor is 2ece o four decimal places

Present Value of an Annuity of | Per Period for n Periods:

PVIF =

e

l-
(I+ry

1

i

2

=1 {{+rY N

T

%

3% 4%

5%

6%

%

%

%

109,

12%

14%

15%

16%

18%

20%

4%

28%

A%

0.9501
1.9704
25410
3.5020
49534

5.7955
6.7202
T.6517
8.5660
94713

10.3676
11.2551
121337
13.003T7
13.8631

“1a7e

15.5623
16,3583
17.2260
10.0456

22,0232
2%.8077
328347
33,1961
44,9550

0.9804
1.9416
2.8839
3.9077
4.T13%

5.6014
64720
7.3255
81622
£8.982¢

9.7960
10.5753
11.3484
12,1062
12.6493

13.5777
14.291%
14,5920
1516785
16.3514

19.5235
22,3965
27.255%
31,4236
H.7609

0.970% 0.9615
1.9135% 1.9961
282868 2.7751
ATITE 36299
45797 4.4518

34172 5242
62303 6.0021
1497 6 TI2T
71.7861  7.4330
0.5202 @.1109

9.1526 0.7605
99540 9.3851

106350 9.985%
11.2961 103621
11.9379 11.1184

123611 11630
131664 121657
127535 126393
14,3230 13,1338
148775 13.5503

174131 15621
19.6004 17.2920
23,1148 19,7904
25.7298 21.4822
27,6756 22,6233

0.9524
18354
27132
3.5480
43295

3.0757
3.7064
€.4632
7.10Ta
717

8.3064
8.8622
9.3936
9.8986
10.3797

108378
11.2744
11,689
12.0853
12,4622

14.0939
15.3725
17453
18.2359
189233

0.9434
18334
26730
34651
42124

49173
5.5824
6.2098
£amy
T.3601

7.8869
83838
08327

sz

10,1039
104773
100276
111589
11.469%

127834
13.7648
15.0463
15,7619
16.1614

0.9346
1.8080
26242
33ar2
4.1002

4.7EE5
5.3893
59743
65182
1.023¢

1.49087
7.9427
0.7
B.T43S
9.1079

9.4466

9.7632

10,0591
10.3356
10,5840

11.6536
124090
13337
12.6007
140392

0.92%%
1.7633
2577t
Nyl
21.5927

4.6229
5.2064
5.7466
6.2465
57101

7.13%0
7.5381
T.9038
9.2442
9.5395

8.8514
91218
93719
9.6036
.81

10.6T48
$1.2578
11.9246
12.2235
12,3766

0.9174
1.753
2.3313
3.2397
3.8837

4.485%
3.0330
3.5348
5.9952
64177

£.8052
7807
¥.485%9
7.70962
8.0607

8.3126
83436
8.7356
8.9301
9.120%

9.8226
10,2737
10.7574
10.9617
11.0480

0.9091
17355
24859
3.1633
17908

4,3353
4.89684
$.3M9
5.75%0
6. 1445

6.4951
6.8137
EA LK
T.I66T
76061

18237
B.0216
B2044
#.2649
8.5126

90770
9.4263
97TN
99148
59672

0.892%
1.6501
2.4010
3.0373
3.6048

41114
4.5638
49676
5.3282
3.6502

59377
6.1%44
64235
6.6202
68103

£.9740
T.H156
T.2437
1.3658
1.4694

78431
8.0552
82438
8.3045
23240

0.8772
1.6467
23216
29137
3.4334

l.e8a7
4.2003
4.638%
4.9464
5.2161

5.4527
5.6603
38424
£.0021
£.1422

6.2651
6.3729
€.4674
£.5504
6821

6.8729
7.0027
F.10%0
Ty
T.1an

0.8369%6¢
1.6237
2.2832
2.8550
33522

3. 7845
41604
4£.4873
4.1716
5.0183

52327
5.4206
3.5831
57245
5.8474

59542
6.0472
6.1280
6.1982
6.2593

64641
6. 316560
66418
§.6605
6.6651

0.9621
1.6052
2.2459
27982
2743

316347
4.0386
4.M36

0.847%
1.9656
21743
2.6901
34272

A.4976
38113
4.07Te
4.3030
4.4941

4.6560
4.7932
4.9095
5.0001
5.0916

31624
5.2223
$.2732
3.3162
33527

5.4869
55168
5.5482
3.5541
5 5543

0.8332
1.5270
24065
2568y
2.9%06

33255
3.6046
18372
40310
41923

4321
4.4392
4.5327
46106
48755

4.7296
4.7746
4.8122
46435
4.8696

43476
49789
4.9966
4.9993
4.9993

0.8065
1.4568
19913
2.4043
27454

3.020%
312423
3412
3.5655
A.6519

17757
3.8514
3.9124
9616
40013

4.0333
4,059
40793
4.0967
41103

41474
4.1601
4,1659
4.1666
41667

0.7612
1.3916
1.8684
22419
259320

2.7594
2.5370
EX L]
3.1842
J1.268%

33351
3.3568
4172
14387
3484

5026
35817
A.5254
J.5386
3.5438

3.5640
3.5633
35712
33714
35714

01576
13315
1.7663
20957
2.3452

2.5342
26775
2.7660
20691
2.9304

29776
3.0133
30404
10609
10%64

3.0082
3097
31039
31050
EREF::]

1120
31242
d1esa
31250
31250

—

-




KASNEB

CIFA PART I SECTION 6

INTERNATIONAL FINANCE

FRIDAY: 27 May 2016. Time Allowed: 3 hours.

Answer ALL questions, Marks allocated 10 cach question are shown at the end of the question. Shew ALL your workings.

QUESTION ONE
{a) (i) liustrate the refationship betwien the product life cycle theory and both international trade and internaticnal
investment. (3 marks)
(ii)  Highlight three assumptions of product life cyele theory. (3 marks)
(b) Evaluate six methods that could be used by multinational corporations (MNCs) to conduct international business.
{6 marks)
(<) Summarise four reasons why a weak domestic currency might not be a pertect solution 16 correct a balance of trade
deficit in internationai ¢rade. {4 marks)
(d; Describe four methods of payments that could be used by multinational corporations {MNCs3 while conducting
international trade. {4 marks)
{Total: 20 marks)
QUESTION TWO
{a) Examine four ethical dilemmas that could be faced by multinational corporations (MNCsj while conducting
international business. (8 marks)
(b} Rhonda Anita has ! million United States dollars ($3 and specialises in cross-rate arbitrage. She observes the
following quotes from the foreign exchange dealer:
Euro (£) /United States Doilar (3): 0.7000 —0.5000
United States Dollar (S) /British Pound (£): 1.7000 - 1.7010
Euro (€) /British Pound (£): 1.2000 ~ 0.2010
Required:
The arbitrage profit in United States doliar (3} assuming thai there are no transaction cosis. {6 marks)
(c) Citing three reasons, justify the cause for central banks’ intervenuon to control the foreign exchange rate in their

respective countries. 16 marks}
{Total: 20 marks}

QUESTION TUREE

(e}

(H

(i) Explain the term “Bank Stress Test™ in relation 1o bank management of loan exposure, {2 marks)

(ii) The recent trends s the banking industry have seen some commercial banks being placed under receivership
or even liquidation by the revulator due to poor disclosure policies vn nen-performing loans.

In light of the above statement, propose six factors thai could act as a catalyst for loans default and
consequently lead 1o massive nen-performing loans in the banking scctor, (6 marks)

Finix Ventures Limited (FVL) intends 10 make a $100 million payvment in three months’ time. The money is available
now. You work as an investment and {inancial advisor for the company and you are provided with the following
information:

United States dollar ($) deposit interest rate is 8% per annum.
Sterling pound (£) deposit interest rate is 10%% per annum,
Spot exchanyge rate is $1.40/£.

Three-month forward rate is $ 1.38/£.

*« * 9 2

CF62 Page 1
Qut of 3




Required:

(i) Using suitable computations, advise FVL on the best strategy to invest the $100 million. (3 marks)
(i) Determine the forward rate that would yield an equilibrium situation assuming that the interest rates 2nd the
spot exchange rate remain the same in both countrics. {3 marks)
(iii) Using suitable computations. advise the company on the best way of imvesting the $100 million assuming the
Sterling Pound deposit interest rale was 16% per annpum. Assume that the US doliar interest rate, the spot rate
and forward rate remain the same, (3 marks)
(iv) Determine the equilibrium Sterling Pound (£) deposit interesi rate assuming that the stated spot rate, the
forward rate and the dollar deposit interess rate remain the same. (3 marks)

(Total: 206 marks)

QUESTION FOUR

{a)

(b

The following cost and revenue information refates to Zobby Limited, a multinational corporation based in 1he United
States (LiS} which purchases most of its materials from Canada and generates a small portion of is sales from
exporting its products to Canada.

i US Business $“million” | Canadian Business $"million”
Sales ! 2560 i 32
Cost of materials i 400 ! 1600
Operating expenses , 480 -
Interest expenses ! 24 : 80
Cash flow ; 1,656 ’ 1,648
Additional information: )
1. Assume that Zobby Limited expects three possible exchange rate scenarios tor the Canadian delbar over the
period of concern as tollows:
. $0.73
. $0.80
. $0.85
2 Assume that U.S. sales will be unatfecied by the exchange rates.
3. Assume that the Canadian dollars (C$) earnings will be remitted to the LS. parent company at the end of the
period.
4, lgnore pessible tax effects.
Required:
(i) Using relevant computations, assess Zobby Limited’s cconomic exposure under the above three scenarios.
(6 marks)
(ii} Comment on the results obtained in (a)(i) above, (2 marks)

Tivec Beauties, a multinational company based in Kenva is considering establishing a 4-vear venture in Rwanda that
would manufacture and sell shoes locally

Additienal information:
1. The project would require 20 miflion Rwanda Francs (RWF) which would include funds to support working
capital needs,

2. The spot exchange rate is KSh.0.125/RWF which is expected to remain constant for atl future periods.

3. The estimated price, variable cost and demand schedules during each of the next 4 years are as follows:
Year 1 2 3 4
Unit cost per shoe (RWF) 700 700 760 800
Demand in Rwanda (units) 50,000 30,000 80,000 100,000
Variable cost per shoe (RWF) 500 500 550 580

4, The expenses of leasing extra office space is RWF 2 million per annum. Other annual overhead expenses are
expected to be RWF 2 million per annum.

5. Depreciation on plant and machinery in Rwanda has been fixed at a maximum rate of RWF 4 million per
annum.

6. The Rwandan gevernment will impose a cerporate tax at a rate of 20% on income. In addition, it will impose

a 10% withholding tax on any funds remitted by the subsidiary to the parent.
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The Kenyan government will allow a tax credit on taxes paid in Rwanda, therefore, earnings remitied to ihe
Kenyan parent will not be taxed.

7. The subsidiary plans to send all net cash flows received to the parent company at the end of each year,

8. The Rwandan government will pay the parent company RWF 12 million to take over the owneiship of the
subsidiary at the end of the four years. Assume that there is no capital gains tax on the sale of the subsidiary.

9. The required rate of return of the preject is 14%.

Required:

Advise Tivec Beauties on whether to underake the project. (12 marks)

(Total: 20 marks)

QUESTION FIVE

(a)

{b)

(<)

5] Evaluate four technigues that could be adopted by a muilinational corporation 1o optimise its cash flow
management. {4 marks)

(i) Cider Limited. a large South Atfrican based muidtinational corporation has 1 million South African Rand
(ZAR]) in excess cash, The corporation wishes to invest this excess cash in South Africa in a 1-year deposit at
a rate of § per cent per annum but is attracted to higher interest rates in Kenya. It creates a 1-year deposit
denominated in Kenya shillings (KES) at an annual interest rate of 12 per cent. The exchange rate of the
Kenya shilling at the time of the deposit is KES 7.5/ZAR where the 1-year forward rate is KES 8.0:ZAR.

Required:

The yield on ZAR 1 million investment. {3 marks)

Recent trends have seen several multinational corporations and individual countries tloat eurobonds at the
international bond market.

Based on the above statement. summarise five advantages of the eurobond market to borrowers. (5 marks)

Discuss four barriers to toreign direct investment (FDI). {8 marks)

(Total: 20 marks)
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KASNEB

CIFA PART III SECTION 6

INTERNATIONAL FINANCE

FRIDAY: 27 November 2015, Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each gquestion are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) Explain three major functions of the foreign exchange market. citing relevant players in each case. {6 marks)
() In relation to purchasing power parity (PPP). discuss the following terms:

)

(i} The law of one price. - (2 marks)
{ii) Absolute purchasing power parity. (3 marks)
(iii) Relative purchasing power parity. (3 marks)

You are provided with the following market conditions:

Annual interest rate in Japan: 1.0% per annum.

Annual interest rate in Germany: 6.0% per annum.

Current spot exchange rate: Japanese Yen (¥)114.4733/Eurc (€).
One-year forward exchange rate: ¥110.2423/€

. 5 = »

An arbitrager borrows ¥100,000,000 or its equivalent € amount.

Required:
(i) Determine whether interest rate parity (IRP) is holding. (Ignore transaction costs), (2 marks)
(ii) Determine the arbitrage profit. (4 marks)

(Total: 20 marks)

QUESTION TWO

(a)

(b)
()
(d}

Explain the following exchange rate regimes based on international monetary fund (IMF) classification:

(1) Fixed or pegged exchange rate system, {1 mark)
(ii) Free floating or flexible exchange rate system. {1 mark)
(iii} Managed floating exchange rate system. (1 mark)
Evaluate two advantages and two disadvantages of a free floating exchange rate system. {4 marks)
Summarise three benefits of regulating bank capital. (3 marks)

Philip Woods, a resident of United States of America who is a venture capitalist holds a major stake in a motor vehicle
manufacturing plant in London, Britain. He is concerned with the Pound value of his British equity position and has
provided you with the following scenarios:

1. If the British economy booms in the future, his stake would be worth 980,000 Sterling Pounds (£) and the
exchange rate would be United States Dollars ($)1.40/£.

2. If the British econemy experiences a recession, his equity would be worth £1,000,000 and the exchange rate
would be $1.50/£.

3. If the British economy stagnates, his equity would be worth £1,070,000 and the exchange rate would be
$1.60/£.

4. The probability that the British economy would experience either of the above possible states would be a

third ('/3) for each state.
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Required:

() Estimate Philip Woods' exposure to the exchange rate risk. (6 marks)
{ii) Outline four strategies that Philip Woods could use to manage the operating exposure experienced in (d} (i)
above. (4 marks)

{Total: 20 marks)

QUESTION THREE

(a)

(b)

)

International trade has expanded substantially in the last few decades. However, this has led to greater uncertainty for
multinational companies.

Required:

Discuss three ways in which increased globalisation coultd adversely affect multinational firms. (6 marks)
(i)  Explain the term “balance of payment”. 2 marks)
(ii) Analyse four factors that affect a country’s financial account. {8 marks)

The government of country M is willing to provide a loan of Sh.10 million at an interest rate of 5% per annum to a
multinational corporation (MNC) to build a factory in country M. The loan would be paid off in equal annual
instalments over a 5-year period. The market interest rate for such an investment is 14% per annum.

Required:
Before tax value of the interest subsidy. (4 marks)
{Total: 20 marks)

QUESTION FOUR

ta)

(b)

(c)
(d)

The following information relates 1o Apex Forwarders Limited. a multinational corporation based in Switzerland:

1. The company is considering a project which involves establishing a 2-year venture in Malaysia with an initial
tnvestment of 60 million Swiss Francs (CHF).

2. The company’s weighted average cost of capital (WACC) is 10%.

3. The required rate of return on this project is 12%.

4. The project is expected to generate cash flows of 24 million Mataysian Renggit (MYR) at the end of year one
and 60 million MYR at the end of year two, excluding the salvage value.

5. Theexchange rate is expected to be stable at 1.35 MYR/CHF.

6. Al cash flows are remitted to the parent company.

Required:

(i} . The break-even salvage value, (4 marks)

(ii) Advise the management on whether to undertake the project. (1 mark)

&
Discuss three mechanisms that could be used by a multinational corporation in its attempt to repatriate blocked funds

from a host country. : (6 marks)
Examine five objectives of international cash management. _ . {5 marks)
Suggest four basic drivers of cross-border mergers. (4 marks)

{Total: 20 marks)

QUESTION FIVE

(a)

(i) Evaluate five strategic objectives of international transfer pricing, (5 marks)

(it} A multinational organisation, Demers Ltd. has two divisions, Division A and Division B, each based in a
different country. Division A produces a product called “Malewa™ and transfers it to Division B which
operates in another country.

The domestic tax-rates for Division A and Division B are 40% and 50% respectively.
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(b

(c)

25% import duty on the price of product “Malewa” is also assessed. The full cost per unit of “Malewa” is
5h.190 while the variable cost is Sh.60,

Required:
Advise the management of Demers Ltd. on whether to use variable cost or full cost transfer price. {5 marks)
Assess five functions of United Nations Conference on Trade and Development (UNCTAD). {5 marks)

Faremall Group Limited. a multinational company with its head office in Kenya is considering issuing a dual-currency
intemmational bond.

The following information relates to the bond:

1. The par-value of the bond is Kenya Shillings (KES) 20 billion.

2. The tenor of the bond is 10 years with an annual coupon payment of 8%, payable in KES.

3. The bond will be redeemed in United States Dollars (USD) for a total of USD 191,764,850.30.

4. The current spot exchange rate is KES 104.2944 per USD.

5. The KES yield curve is flat at 4% and the USD curve is flat at 12%.

Required:

(i) The theoretical value of the dual-currency bond. (3 marks)
(ii} Comment on the importance of issuing a dual-currency bond. (2 marks}

(Total: 20 marks)

....................................................................................................
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KASNEB

CIFA PART 1l SECTION 6
INTERNATIONAL FINANCE
PILOT PAPER
September 2015, Time Allowed: 3 hours.
Answer ALL questions. Marks allocated to each question are shown at the end of the question.

QUESTION ONE

{a) A Kenyan company has agreed to sell goods to an importer in Zedland at an invoiced price of Z 150,000. Zed (Z) is
the currency of Zedland. Of this amount, Z 60.000 will be payable on shipment. Z 45,000 one month after shipment and
Z 45,000 three months after shipment.

The quoted foreign exchange rates Z per Kenya shilling (KSh.) at the date of shipment are as follows:

Spot 1.690 1.692
One month 1.687 1.690
Three months 1.680 1.684

The company decides to enter into appropriate forward exchange contracts through a bank in order to hedge these
transactions.

Required:
(i) State two advantages of hedging as provided above. {2 marks)
(i) Calculate the amount in Kenya shillings that the company would receive. (3 marks)

(iiiy Comment with hindsight on the wisdom of hedging in this instance, assuming that the spot rates at the dates of
receipt of the two instalments of Z 45,000 were as follows:

First instalment 1.69 1.69
Second instalment 1.700 1.704
{3 marks)
(b)  Large companies with significant borrowings overseas often use interest rate swaps and currency swaps,
Required:
Explain how interest rates swaps may be used in the above context. (12 marks)
(Total: 20 marks)
QUESTION TWO

Gladwell is an international pharmaceutical group. It recently carried out clinical trials on a new drug which was to reduce the
effects of diabetes.

The research and development costs incurred on the drug amount to Sh.160 million. In order to evaluate the market potential
of the drug, an independent research firm conducted a market research at a cost of $h.15 million. The independent researcher
submitted a report indicating that the drug is likely to have a useful life of 4 years (before new advanced drugs are introduced
into the market).

It is projected that in the year the drug is launched, it could be sold to authorised drug stores {chemists and hospitals) at Sh.20
per 500mg capsule. :

After the first year, the price is expected to increase by 20% p.a.
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For each of the four years of the drug’s life, the sales have been estimated stochastically as shown below:

Number of

capsules sold Probability
11 million ' 0.3

14 million 0.6

16 million 01

If the company decides to launch the new drug, it is possible for production to commence immediately. The equipment
required to produce the drug is already owned by the company at an original cost of Sh.150 million. At the end of the drug life,
the equipment could be sold for Sh.35 million.

If the company decides against the launch of the new drug, the equipment will be sold immediately for $h.85 million as it will
be of no further use to the company.

The new drug requires two hours of direct labour for each 500mg capsule produced. The cost of labour for the new drug is
Sh.4 per hour. New workers will have to be recruited to produce the new drug.

At the end of the drug’s life, the workers are unlikely to be offered further employment with the company and redundancy
costs of Sh.10 million are expected.

The cost of ingredients for the new drug is Sh.6 per 500mg capsule.
Additional overheads arising from the production of the drug are expected to be Sh.15 million per annum.
Additional working capital of Sh.2 million will be required at the start of the production of the drug.

The drug has attracted interest of the company’s main competitors and if the company decides not to produce the drug, it could
sell the patent right to Drug House Lid., its main competitor at Sh.125 million. The cost of capital is estimated to be 12%.

Required:
(a)  The expected net present value of the new drug. {16 marks)
(b)  State with reasons whether the company should launch the new drug. {2 marks)

(c)  Discuss one strength and one weakness of the expected net present value approach for making investment decisions.
(2 marks)
{Total: 20 marks)

QUESTION THREE .
The government of many less developed countries have experienced problems in recent years as their debt levels have risen
leading to what has been called a “global debt crisis™,

Required:

(a)  Explain briefly why these problems amount to a crisis. (6 marks)

(b)  Discuss the approaches that have been used to overcome the problems. {8 marks)

(¢}  Outline the benefits to multinational business enterprises of resolving the current global debt problems. (6 marks)
(Total: 20 marks)

QUESTION FOUR

(2}  In the recent past, your government has been aggressively wooing multinational companies to come and invest their
reSOUrces in your country,

Required: _
Analyse the key decision areas that a financial analyst would have to advise a company that is considering making
direct investments in your country and discuss the risks involved. (10 marks)
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(b} Your country’s economy has been performing poorly in the recent past and many companies have retrenched workers
while others have closed their operations. Many skilled people are having to start their own small enterprises.
Required:

As a consultant for small and medium sized firms, write a brief report explaining the various ways in which small and
medium size enterprises can raise capital for investment, (10 marks)
(Total: 20 marks)

QUESTION FIVE

(a)  Suppose the Pound Sterling is bidding at £1.9724 in New York and the Euro at £1.3450 in Frankfurt. At the same time,
London banks are offering the Pound Sterfing at €1.4655.

Required:
Show the steps that an astute trader would follow to earn riskless profit through a triangular arbitrage.
Assume that the trader begins in New York with £1000,000. (6 marks)

(b)  Discuss four components of the current account in relation to balance of payment. (4 marks)

(c)  Inrelation to foreign exchange rates regimes, explain:

(i) Fixed exchange rate or pegged exchange rate system. (! mark)
(ii}  Free floating exchange rate. (1 mark)
(iti) Managed floating exchange rate. {2 marks)
(d)  Discuss three factors that affect the exchange rates. (6 marks)

(Total: 20 marks)
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QUESTION GNE !

] Dillerent theorics have bezn developed 1o explain why firms become motivated lo expand (heir businesses
internztionally, | :
In relation (o the pbove staeisent., discuss the foliowing theanes;
i) Theery of eamparative ndvanlage, (2 marks)
(i} tmperfect markets Geory. ] 2 Imarks]
(i} Product eycle theors, (2 macks)
() The Imemational Monetary Fond (IMF) opersles in accordance with the provisions of its founding cc_nsrilutiﬁn,
known &s the "Anicles of Agreement”. The articles were originally adopted in 1944, While these anicles naye
subsequently been amended o four oceasions, in mast respeets, they remain as valid in defining the characier and in
establishing (he Runctions and organisntional stucture of the Fund's Adicles of Agreement. The primary purposes of
the fund are set out in Artichc 1 of the Articies. These key purposes have remained essentially unchanged over the past
sisly years although both their interpretation and the menss af imolementating them have changed as the warld
eeanomy, naneial mackels, wd their political context have changed. : =
Required: - A -__ : i
I relation to the information provided nbove, examing three nims of e IMF as outlined in Aricle | of the Articles of
Afreement : (6 marks)
(3] Francis Mwalek has 1,000 United Staies dollars {USD). He visits Forest Bank and is offered the following quotes.
1 He could buy a Bure [or 14 Mexican Pesos. [P,
2 Forest Bank would pay him 13 Mexican Pesos for a Euro.
i He could buy a Unitad States dollar for 0.9 Euros. .
4, o The bank wonld pay him 0.8 Eures lor a United Stares dollat,
5 He could buy a United States dollar for [0 Mexican Pesos,
6. The bank would pay him 8 Mexican Pesa fara United Stales -Ilol.lar.
Reguired:
Using tinngular arbitrage, explain the order of ransactions that you would execute 1o generare: |
(i Arbitrage profit, [5_ miarks)
{ii) Arbitrage loss, (3 marks)
(Total; 20 marks)
QUESTION TWO ' ok
() On 21 April 2015, the Kenyan Shilling (KES) traded at KES 93.61 aguinst the United States dollar (USD}.IT!HS IEthE
lowest value the RES has ever taded with the USD in the last three years, The monstary policy committes of e
Central Bank of Kenya (CBI invends o reduce the value ol ihe USD against the KES,_ :
Required: - 408 . W
(i) Explain low the monetary policy committee of the Centrad Banle of Kenya (CBK) would use indirecl .
intervention to-achieve jts goal, : (2 marks)
(i) Examine one pussible adverse &ffeet that might result frem the indiceet inteevention explained in {8)(i) above, 3
- z (2 marks) .
(b1 Differeat countries in the warld weneratz revenue n different wa

ys. Some countries might rely on corporate and
niries could depend on value added 16 (YAT) or
o tax and how mueh, it is not surprising “hat the tax
counlry has a unique lax system and @y rates,
he varicus 1ax provisions of each country where they consider investing

individual income txes to generate their revenve while other con
exeise taxes, Since each country has its ovun philosephy an whom t
bealment of corporations differs amony countries. Since sach
multinational couporarions need to recopnise ¢ g
in foreien projects.

. Required: :
With reference (o the above siatement, discuss four 1ax characteristics of a eountry hat a multinativasl corporaiion
should consider when earryiog out International tax assessmen). {8 marks)

Teb  Chandral Limited is an Indian commpany based in Mumbai, [ndia. The company intends to impon 2 Iewilipurpese
* machine from Japan 4t 3 cost of 3,400 miltion Japanese Yen. The company can secure finance through twe Cpions:
. Qbtain a loan at 18% interest per annum will quarterfy rests from o loen! Indian bunk so as Lo ampert the
nwchine. : : :
s An offer fram a Tokyo based branch of an fndian bank extending credit of 180 days a1 3% interes! rale per
annum against opening of an irrevecable letter of credit,
Additional informption:
I. The present exchanys rate is 1 Ingian Rugee (INR) = 3.40 lapanese Yen (JPY).
2, The 180 days forward rate is 1 IMR =3 .45 IPY,
i The Tokyo based bank's commission, charges arc at 2% per annum,
Assume that credit from the Tokyo based bank is availablz for 180 days, and thal 180 days = 6 months = two quarlers.
Required; i
Using appropriate computations, advise Chandeal Limited on the best Tnaneing aliemative, (8 wnrks)
{Tatal: 20 marks)
QUESTION THREE &
{a) 0] Outline three characieristics unique to a multinationn) corporation that could 1 fTect its capital structure.
. {3 marks)
{ii) Highlight three characteristics that migh! diffecentinle the cost of capital of a multinational corpecation from
that of o domestic firm. - (3 marks)
(1) Discuss the following methods of financing interiational (rade’
{1 Letter of credii. : {2 marks)
iy Banker's acceptance. ' +{2 marks)
(iiy Factoring, : ’ (2 marks)
{iv) Countertiade, 5 . (2 mnrks)
. 1 -
(e} Assunie that you work with City Bank Ltd., a multinational bank based in the United States of America. One morning.

QUESTION FOUR ; 5 <
‘@]

{1}

- i the contest af the above slalement, assoss The thres piliars of Base! 11 Accord.

you are provided with the following informatian:

* 7 Speiraeof sterling pound (£) is [ 80 United States dollars (3) per £.

. 180 day forward rate of the sterling pound (£) is 81,56 per £,

. 0, 180 day British imerest rate is 4%,

] |80 day United States interest rate is 3%.

Required:

Using apprapriate calculotions:

(i) © Explain whether covered interest arbitrage by United States investors is fensible, [Assume that United States
investors uae thelr own funds). 3 miarks)

[453] Citing reasons, exp!m’ﬁ whether interest rate 'pnriiy exisls. 13 marks)

{Total: 20 marlks)

Highlight Mve lessons that could be lsared fram ihe year 008 zlobal fnancial criss. . 3 warks)

Banking regulaters that form the Basel commities mel and fgrecd anoa pew accord, the Basel 11 Accord 30 08 1o
correcl some inconsis encies that sl exisied in the ineenatianal financial murkers,

Required:

{6 marks)
Zetech Lid;, a Ualied States based fien, is cansidering to vnderiake a project in which it will have a compiler
software deyeloped, 1* would sell the sefiware Lo Ratec Lid, an Australian firns, and would reccive a payment of 10

millien Australian dollars (AUDY at the end of anc vear. To abain the sollware, Zetech Lid, wonld have to oy a lucai
suftwinre preducer 4 reiition United States dollars (USD) today.

Zeteeh Lid. might alsy receive an arder for the same software from Bitck Lid. in Austrabia in wlich i1 would receive

)2




ALID 4 million at the end of this year if it receives this order, and it would et incur any additional costs since itis the
same software that woukd be created for Rates Lid. % ”

The spot rate for the Australian dollar is USD 0.50. The spot rale is expected (o depreciate by 8% over the next year.,
The 1-year [orward rate of the Australian dollar is USD 0.47,

IF Zetech Lid. decides to pursue this project (have the saftware developed), it wonld hedge the expected receivables
due to the order from Ratee Lid, with a 1-year forward contract, but it would not hedge the order from Bliek Lid.
Zatech Lid, would require o 24% rate of retum in order to accept the project,

Reguired: .
() ‘The net presem value {NPV) under the conditions thal Zetech Lid. receives the order from Bitek Lid. and
. from Ratec Ltd., and that It receives payment from Ihese onders In 1 year ? (3 marks)

(i1} Zetech Lid, recognises Uiat there are some counlry tisk conditians that could cause Raiee Lid. to go bankrupl.
Delermine the net present value (NPY) of this project under the conditions that Zeteeh Lid, receives both

orders, hut Ratee goes bankrupt and defauits on its payment 10 Zetech Lid. (4 marks}
(Total: 28 marks)

QUESTION FIVE -

(a) Multinational corpamtions {MMNCs) commaonly consider Toreign pdirect investment (FDI} so as 1o fmprove their
profitability thereby enhancing their sharcholders’ sweaith. In most instances, multinatienel corporations engage in
foreign direet investnent since they are interested in boosting revenues, reducing cost of both.

Required: i
Discuss three revenue-related motivés for foreign direct investment (FD1). (6 marks) 2 ’
(b} Evaluate how the following techniques could be used to optimise cash flows in international cash management:

th Metting technique. (3 marks}

(ii) Managing blocked funds. {3 marks)

(i) Leading or lagging stralegy. (3 marks)
{c) Assume that the 1:year forward rate is used as the forecast of the future spot rate. The Malaysian ringgit'é {MYR's) o
spot rate is D.28 United States dollass (USD), while its 1-year Forward rate {s USD 0,26, The Malaysian !-year interest
rate is 12%. : '
Required: : '
The expected effective yield an 2 1-year deposit in Malzysia by a United States multinational corporalion, (3 marks)

(Total: 20 marks)
i :
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QUESTION ONE

i i (a) Dlscuss the follewing mgamsmtannl features of multinational bankmg.
f;i') * Com e.-,prmdent banking. (2 .marks}
(iiy Resi;jem representatives. @ ma..rks]
{1ii} s Foreign branches. (2 miarks)
(b) Analyse four factors that could affect a country's appeal t‘or foreign direct investment, (8 marks)
(c) Craw]ﬁy Lid,, a Kenyan Lompany intends 1o rnves'l.m two forsign countries; Tha first. country is Zuka which has _

intraduced pru:cctmms! burrfers and other restriclions on movement of funds. The government of Zuka wishes o
ncourage investments by Crawley Lid. and {tis prepared to relax tlese rules for the proposed investments.

The second country is Gen:ak:i which has no restictions e movement of foreign exchnnge.

The fallowing information is available:

Kenya Gennla Fuka -~ World eapital markets
Risk-free rate (%) 9 8 i 1l ; 4 ’
Market return (%) 12 10 : 15 . 10
Equity beta : =" 04 14 08
Long term loan rate (%) 8 7 0. - E 2o s
Taxrate (%) . | 7 30 e s 30
", Pre-tax cost of debt (%) 7 7 ST 9 i 6 .

Assuming that the two Inwe&tments an: Ullderlake‘! Crawiey's capital struclure js axpected to be 50% eqully and 50%
debt based en the book values, and 65% equity 'md 35% debt based on the market values,

chulred.
- The discount rates that should be used to evaluate the i investment opportnmnes {6 marks)

[ll}t"l! 20 marls)

QUESTION TWO

{n] . Summan’se six principles of inremstional'-:ash management. (3 mz'rks)
(b) Wamu Entemaunnal Liited (WIL) has identified a busmcss oppommny of importing products from Gumany
'A:uess three factors that thé management of WL should consider when s-]ccm-g a stfategy for :rads finaneing.
: (6 mark&)_
(s) DI—SCI‘]bC three cthzcal issues that o multinational corporation should observe uhen pmsentmg mvtstment ana!}SJs and’
recommendations to fts clients, prospective clients and the public.’ ; {3 nmks
(d) The & one-vear risk-free inle:cs: rale in Maxrcn and Umtsd Kingdom iz m% and ‘)% rcspectweiy Assume that interest
rate parity exists. ¥
The spot rate 0_1" the Mexican Peso is £0.14, -
Required: a0
)] The forward rate premium, * (2 marks)
(i} The one-year forward rate of the Mexican Peso {MXN).

(i1} The expected change in the spot rale over the next one year based on the International Fisher Effeet.

(2 marks) |
| QUESTION THREE - : SRR,
(a) Explain the following methods used in hedging against transaction exposure: g

(1) Forward coniracts. 2 r'narks}

y (1 mark)

(i) Futures ¢oniracts. ; : it tm {2 marks)
(iiiy, . Money miarket hedge, > (2 marks)
4 {iv)  Optione.’ g ' T e, S g (2 marks)

) Leaﬂiﬁg and lagging, (2 marks)
{b) * Patent Ltd. a company based in the Unfied States of Amenca (U.S.A) pla.ns to undertake a pmJect in Argentina that
will gencrate revenues of 10" millinn Argenting Peso (J&RS\ it the end nf cach year, for the next four vears. The

currency of the (1. S.A. s the 5., %
The company will incur operatmg expenses of ARS.3 mxilmn per annum. The corporate tax rate cliai rged by the
Argentine government is 30%. All afler-tax profirs will be remitred ﬂnnualiy to the U.S:A., which is ihe parent couatry
*ofthe campany. No additional tases are impazed. The spot rate oflhu ARS is prasend}r SO 20. The ARS is expeeted to

| depraclate by 10% each year far the next four years.

. The saivage walue of the assets will be wm-:h ARS 40 ml!liun in four years time afier caplla] gaing taxes are paid, The
intlial project investment will require $12 million, half 6F which will be | in the form of equity from the U.S.A, parent
company, whils the ramammg E:alf will be pencrated from bormwed funds. Patént Lid. will borrow in Argentina
Fesos,

The annual interest rate on the funds bormw\.d i 14%, and is pdld at the end of each year (w:th zero prmupal‘ The *

mrerest pnymen[s are deducted betore determining Iw to the Argentine government.

. The entire principal of the Toan will be paid &t the end of the fourth year, Patent Lid, requires a rafe of return of a1 least
y -20% on its invested equity for this pro;:ct to be warthwhile, O ' R

. Required: " 5 ! -]
(i) - 'I'hc net present v1lue (NPV} of the Dl’Djecl == i _— (9 mark_s}_
(if) ' X Adwse Pa.tcnl Lud. on whether to undertak: the project. {1 mark)

(Total: 20 marks)

QU&STION FOUR i L

(a) Explam the four sul:»accounrs ‘of the current account with refercncc to the halance of pa}'m::nts (BOP} (8 marks)

(k) Horizon Lid, hos to makea 3 million Umled States dollnrs ('U 8. 8 payment in three months’® l:me,'Th'e required,
' amount jn U.5:§ is aval]abie with Syntex Ltd, The management of Syntex Ltd. decides to invest the money for three _

rm)nil‘.s i:cforl: mak:ng it avmlable 1o Herizon Ltd o L T

Addltlonal inrormatlnu.

1 The U.S. § deposit rate is 9% per annum. )

2. The sterling pound (£}, r]cpoul raleis | 1% per annwm, -

3.- " The spot exchange rate is U.S. S 1828, -

: The thres ‘month forward rate is U.S. §' 180/,

Requlrc fey . =% »

(i Advise Syntex Lid. on the best investment ’strate_n,y fm- achieving maximum remirn based on the given
information, 5 = S (8 marks)

{ii) Determine the forward rate thar would yield an aqml:hnum situation assuming that the inferest rates and the
spot exchenge rate remain asg:ven ahtwe o (4 marks) |

= b ; - (I‘ota] 20 marks) i
QUESTION FIVE ' :
@ Dlscuss the !‘unuwmg axchangc rate regunes with reference to the iulern-mansl Mnnetary Fupd { IMF) Llassificaﬁun:

: {iJ : Arrangemenrs with no .t.epamelwal iender, (2 marks)
= (1) C'urrcncy board sysrem (CBS). - (2 marks)
- (ifi} I Pegged cx:lvangc_ rai;xs with horizontal bands. { 2 marks)

(V)" Crawling pess. (2 marks) )
[(:3] The global finaneial -c;isig of 2007 1o 2009 demonstrated lha.t dornest:c and xmernaiwna} ﬁnanclal smbﬂ:t_v cannol be

taken for granted, even in'the world's mast developed coiintries,

Indcnvaflncaov o g Gebaanalily L e LMY s iR snd Seerened its o pEralions,

L .




= __Wiih :Ief‘ersnce'tp ihe above ient, propose three es that the International Monetary Fund (IMF)has taken |
(1 fomitigate futuce global financial crisis. ] e i 7 (6 marks)" |
: ‘ ; 2 b . S omEe ; t P z RPN R i
T} Discuiss three mechanisms that n}u_lnglallona] corporations (MNCs) eould use to reduce thejr tax obiigations globally, -
; T Sl g TUH B e SRS {6 marks) !
(Total: 20-marks)

- INTERNATIONAL FINANCY

FRIDAY:30 May 2014, Time Allowed: 3 houss.

Answer ALL quest'ians. Marks a]!lll:ﬂtfd 1o ench question are ;chnwu at the end of the QUéstian. Sha_w )\L,L your workings.

QUESTIONONE . ° - £ et v - ANt ;
(a) 3 Evaiuate four 'im!ﬁlicf:tiam_uf.oun-_vard foreign direct fnvestmenis (EDIs) from the perspective of the home (parent)
i ::_ounlry of 2 multinational earporation (MNC). E v {8 marks)
(b} Describe the following types of international arbitraga:’ . w g '
I.(i) j -Lo-caﬁonal a.a'biu'a.ge. : I {1 mark)
(i) Triangular arbitrage. y {1 mnrh
i Covered interest arbitrage. (1 mak)
() . Uncovered interest atbitrage. (1 mm'l.().
(¢} David Githaiga is a forex trader who g?ecialise?s in clross-_rﬁte' mbilragl.x One morning he noticed the following quotes:

Swiss franc (CHF) /United States dollar (USD) ~ CHF 1.5971/USD
Australian doliar {AUD)United States doflar = AUD 1.8215/USD s
——————— Australien-dollar /Swiss frane-—=-AUD LI440/CHE - - - - - mmms mmemsin vn e e

Additional informatjon:

1. There are no fransection costs.

2. David Githaiga has USD [,000,000 available for arbitrage.

Required: I : : . fag ™ 7

Based on triangular atbitrage cirategy, caleulate the arbitrage profit in U.S, de lining the s i

ased : n U.S. dellars, clearly : y

-Githaiga would take to eamn this proﬁtr ¢ 3 ’ R e -SLCEBS E’?rfg

2 ; (Total: Iﬂ'mnrksj

QUESTIONTWO
{z} Examine five types Df'eihica?l dilemmas that managers of multinational curp.qmt'inns (MNCs) could face. (IO marks)
() . i O, : . : '
) Argne f'o.ur cases against the use of tax incentives offered by the host coublry of a multinational corporation. (4 marks)
(c} : In re]ablon to international rade ﬁnan.cing, explain the term “forfailing transaction™, (2 marks)
(dy -ﬂ;z;::nieﬁ;mm;c:cagar%zel l%:;atmc'[i!tg; an'afh_t,ﬂﬂ?‘,{w{] banker's acceptance iz 120 days. The importer’s bank
. isston.is 1.75% and the market rate for the 120 day bankel 2 i o e
o e . rate | y rs acog:pnncg is 5.75 /nl. Assgme that one
 Required: * ~ ’ - : ; h
The amount the e)_cpnm_:r viauld recefve if he holds the banker's acceptance until maturity, (2 mél‘ks) y
(i) The amount the exporter would rg?_eive’: i_!’ he .discnmll!s the banke:rl's a.cceptance. with the _iJﬁpm’s bank.
bt (2 marks)
o (Total; 20 marks)
QUESTION THREE i o S T TG
{a) The overall capital siructive of a parent company is essentially a2 combination of all its subsidiaries’ capital structures,

The capital struetre of a multinationat corporation is dependent not only on the characteristics that are distinctive to
ssch of the multinational corporations but also on the characteristics that are distinctive to each of the host country.

Required: : Y e .
Wilh reference to-the above statement, discuss five faciors that help 2 miltinational.cotperation (MNC] in ils choice
of a capital structwe, 2 '

(5 marks] ._j--

& .

The late 2000s olabal financial crisis ar the so called credit crunch is considersd by many ecanomists as the worst

’.b.! I ; s
- financial crisis since the great depression of the 1930's. Jtresulied in the collapse of large finaneiai institutions. bail
out of banks by national governments around the world, foreclosures and prolanged unemploymnent.: ;
Re:'l-uit‘e'l'- . i e h. lobal financial crisis experienced in the
l\’\e’i'{h2 (.f)gfgsrence to _thc ahove statement, summartse five main causes of the gl P i
ate : ‘
Patkam Ltd,, an Indian based company has two ubsidiaries, one in the United States {US) and the other one in the
& United Kingdnm {UX). The whole forecast surplus funds for the next 30 days are as given below: |
U5 Subsidiary; United States dollars (LITS‘D) 12 million.
UK Subsidiary: Sterling pound (£} 6 million.
" Additional information:
1. Exchange rates: -
; __-______l_EA"Ru ee (Rs £/Rs I .
I Spoi - 1 0.0243 0.0148 _] ek
30 days forward Q.0245 0.0150 . : .
3. Bomowing/deposit rates per annum (simple interest rates): " B
T 8.4%07.5% R EaTT
ii 1.6%i 1 5%
£ 4.0%4/3.8%

QU FSTION FOUR

{5

®

5. The Indian operation is forscasting & cash deficit of Rs.400 million.

4. Assume that one year has 360 days.

ity and each of the two aubsidiaries underl

The cash balance in Indian Rupees &t the end of 30 days periad for Patiam Ltd.
the following scenarios (ignore fransaction costs and faxes). _ o
. ita in local currency independently.

1 (5 marks
i Each company invests/finaness jls own r:ash balances/defic : . (5 m. )]
; jately in India and the net balances are invested/borrowad for 3¢ days

i)  Cash belances are pooled immed (5 marks)
"\ period. (Total: 20 marks),
{8 marks)

Evaluate four negative impacts of multinational corporations (MHNCs) on the host countries,.
inery § | amerd : th
Kakuma Lic. is s Keayan firm that intends to place en order to buy machinery from an american corgpan%f. !}Z c;a : :
agrsement kakuma 11d. will be expected to pay the american company 200,000 U5, .dollars (U;‘, d‘i o oertiqn h»d}cé
Kgakum L,td i-s cansidering'four ahernative hedging approaches; forward hedze, money market he .‘,e,_ op edg
- orremain unhedged. : ; Lo . ay e :d b
ot hived by Kakuma Ltd., you colleet and develop the following datafinformatien iliS desired by
ine the most appropriats approach for hedging. P 4

As a Francial consults
- {he coihpany Lo determ

- 1.- Thespot rate ofU.S- dollars as of today is Ksh47 00/USD. & o

3, The 1B0-day forward rate O

£ dollars 23 of today is Ksh47.50/USD.
3 Intersstrates are as follows: :

180-day deposit rate (per annurm) 0
180-day borrowing rate (per anuum) ! B, _
Future spot rate in 180 days 23 estimated by the consultant 13 Ks§1.47.?5 x’Ller.
5 -A call opticn on the USD which expires in 180 dave has an exerciss prics
-7 Ksho.52USP.
6. A put option on the 11,8 dollar.
Ksh0.4/USD. |
7. Oneyearis assumed to have 360 days.

af Ksh.éﬁiu‘SD and a premium of

h.47.50 and a premium of

which sxpires in 180 days has an exercise price of Ks

Renuired:

Cary ouia comparative anaiysis using the foliowing pedging techniques.




(¢}

QUESTION FIVE 3 G g S
Discuss four reasons why the central bank in Your couniry wauld prefer the fixed exchange rate system to the floating

HE)

(b)

i Forvard hedgs, - g - {2 marks)

() Money market hedge. B Tl ) » b el [3mark§] :
(i) Option hedge. ' ' S # (3 marks) _
vy Remain unhedged, ) 7 ot (2 marks)
Advise Kakut-na Litd. oz:1-1_h'¢:. best hedping technique to a;dapt based ;n your ana[}ﬁﬁ Etr-).a_bo\ré, : © (2 marks)

(Total: 20 marks)

exchange rete system.

) . {8 merks)
A United States multinational corporation intends to make  capital investment in Russia.’ The estimated project cost
15 630 million Russian Ruble (Rub), with a salvage value of Rub 50 million after 5 years. The pre-tax operating cash

flows are expected to be Rub 300 million per year. The company wishes to finance the project with the following”

sources of funds,
..;

» Reiained eamings: USD 5 millign.
*  Five-year term loan in Russia at 15%: Rub 200 million,
. ®  Five-year term loan in US dollars at 10%6: USEr 5 million.

. The corporate tax rate in Russia is 35%, while that in the United States is 30%. The Russian government permits
DYerseas companies 1 remit 50% of each year’s pre-tax, but afier-interest, accounting profit back to the parent firm.

- The country can also invest blocked funds iny Russia at 6% in govemment securities. Such funds can be repatriated at
the end of the project’s life. The remittances fiom the project are not expecled to aftract any tax in the United Stares,

The current spot exchange rate is USD/Rub 45, ;

* The Russian Ruble is expected to depreciate against the LS, dallar by 5% per annum,

. The project has an asset beta of 1.50. The beta of debt is 1.20. In the United States, the risic free rate of return is 434,
and the return on the market index is 14%. I T .

4 Required: g . ¥ iy ) %
Assess the viability of the project using the adjusted present value (APV) approach. " C (12 marks)
i i % oo - e T (Total: 20 marks)
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QUESTION ONE

(&) Discuss three internal hedging techniques that an crganisation conld employ to hedge against currency risk, {6 marks)

(5 Tripple A Ltd,, & company based in Kenya, imports wrist watches from Rwandz, The cmpa'n}; has & qontract, 1o
purchase 30,000 wrist watches ata unit price of 18 Rwandese Francs, RWF. Three month’s credit is allowed belore

payment is due.

Tripple A Lid. cwrrently has no surplus cash, but can borrow short term at 2 per cent above bank rate or irest

shorl-term 2t 2 per cent below bank rate in either Kenya ot Rwanda, E

The following information is provided:

RWT/KSh.
Spot-exchange rate 3.81-8.87
1 month forweard 2.5% - 1.5% premium .
9.month forward 4.5% - 3.5% preminm 4

{The preminm relates to Rwandese francs)

Current bank base rates

Conntry Rate

Rwanda £% pet annim

Kenya 10% per annu !
Required: ]

) Using suitable computations, illustrate three policies that Tripple A Ltd. might adopt with respeet to-the

Foreign exchenge exposure of this transaction.
. (Assums that the inferest rates will nof change during the next three months).

(i)  Recommend the policy that the company should adopt.

(c) Highlight four Factors that could influence the transfor pricing decisions by a multinational corporation.

(9 marks)
{1 mark)

(4 mazks)

(Total: 20 ma-ks)

QUESTION TWO - !
(a) - ~Distinguish between the following terms: ) '

] “Sterilised foreign exchange intervention” and “unsterilised foreign exchange h:tcrvelfuiian".

{if) “Fiyed exchange rate” and “floating exchange rate”.

O Describe two ways in which the b'e'n'.tr'afbaﬁfc could intervene to chp; i : ign e);i-c'flalp_'lée_ Tates.

{e) . Summarise six methods that the poyemment in your couniry could adopt to prevent falling into debt crisis.

7 A United Kingdogn investdr holds £500,000 which he intends to invest in Morocco.

Additional i e tons o i
1 Current spot exchange raté of the Morocean Dirham Is £0.06.

4 &()-day forward rate of the Moroccan Dirbam is £0.05.

3 60-day interest rate in the United Kingdom is 1 per cent.

4, 60-day interest rate in Moroceo is 2 per cent.

Required: S O TR s oo, b

@ The vield to the United Kingdorn investor who engages in covered interest arbitrage.
(i)

Explain whether.covered interest arbitrage is possible for a Moreccan investor in this cage.

(S.;':iiaﬂ's)
(2 marks)
(4 fz-ks)

(6 marks)

" (4 marks)

(2 marks)

{Total: 20 marks)

?

(a) Explain the following terms 23 used in the foreign exchange forecasting: #
i 63 Iterest rate parity. (2 marks)
(i) Purchasing power parity (FPPP). {2 marks)
(iii) International Fisher effect (IFE). (2 marks)
() Thomas Dickson currentiy holds $100,000 (USD) but does not believe that the International Fisher Effect (IFE)
applies.
-,
Additione] information:
1. The current one-year interest rate in Europe is 5 per cent while the one-year interest rate in the United Slates
is 3 per cent.
2z Thomas Dickson converts £100,000 (USD) to Buros and invests the Euros in Germany. Cne year fater, he
converts the Euros back to dollars. .
B The current spot exchange raie is §1.10 (USD) per Euro (€).
Required:
{1 According to the !ntema_!ionzl Fisher Effect (IFE), calculate the spot rale of the Euro in one year. (2 marks)
Lty IF the spot rate of the Eurp in one year is $1.00, caleulate Thomas Dickson's percentage refum from the
) strategy. = (4 marks)
(iiiy  If the spot rate of the Eure in one year is $1.08, caleulate Thomas Dickson’s percentages retwm from the
stralegy. (4 marks)
(i), . Determine what the spot a2 of the Euro must be in one year, for Thomas Dickson's strategy to be
. suceessfil. (2 marle)
{c) Outline three assumptions of the eurrent account monetary model. (3 marks)
(Total: 20 marks)
QUESTION FOUR
{a) Deseribe four considerations to be taken into account when determining the strategy for financing international trade.
i 2 (4 marks)
) ()] Evaluate thres challenges that manngers of maultinational corporations might face in evaluating international
: investments iming the net present valie (IWPV) method, (6 marks)
(i} Zemtex Ltd,, = British co'mpmy has just constructed & anufacturing plant in Nairobi at a cost of @ million
Kenya shillings.
Additional information: . i
15 Zemtex Ltd. intends to operate the plant for three years. ;
2. The company projests cash inflows of Kenya shillings 3 million, 3 miilion and 2 million for the next thres
years nf nperation respectively.
3. The operating cash flows will begin in the year 2014 and will be remitted back to the parent company at ths
end of each year. ]
4, The plant will be dispesed of a1 the ead of third year for Kenya shillings 5 millicn.
A= The required rate of return for the company is 17 per cent. A
6. The current exchange rate for United Kingdom Pound (£) iz Kenya shillings 120 per Pound. The shilling is
expected to depraciate by 3 per cent per year,
Required: i 2.
Using the net presznt value (NPV) method, advise Zemtex Lid.’s management on whether or not to undertake the
project. i (5 marks)
(c) Highlight four causes of rapid growth of foreign direst invesuments (FDI) in the developing and emerging economirs
~ of the world. {4 marks)
. (Total: 20 marlks}
QUESTION FIVE :
(a} Amalyse four modes of payment that could be used by @ multinational corporation, (4 marks)
b} [Yisenss four factors that might have led to success of Euro curreney in Europe (% marks)
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ey KASNEB QUESTION FOUR A

{a) Differentiate between ‘*lax rcm!:ty and “tax equzty
TERNATIONALFINANGE .

(4 marks)

MONI)AY 1 .I‘une Eﬂll

| GSIA P#‘\RT'HI'SECTJONG : [b} W i Ugandar company issuesa bnnd with a face valuc of U‘ih 1.2 billion and a coupon rate ofS 25% T'he compan}
], hasinanln s . Timg Auuwcd 3 hours e der::dr..s to useaswap 0 conver[ thi.s bnnd inta ai{cuya shl]!mgdunommaled bond. i i
A:lswm ALL qummns Maric.s ailucar.cd to cach quutmu are shotn at the bid of thic ¢ qutsflon St =

QUESK 10N ONE '. The: l‘uUHEﬂT- cxc!mllvc lﬁtc is USh EGJK-Sh “ e fi Xﬁd I&iﬂ ﬂ“ Kel 1¥a 5 !IJllj‘Jg de: om_matcd bond is 6%: and the fixed
el 5 2. i ﬂ“}’
. : ; anda shillin demmmated Swap is 3%. All paymrms are made -arl. Ui
I . o ; i o 1 rale on Ug g . 0,

0w ALL ynur workinga

(@) . ighlight three methods used’ b)’ the revénus au Ihcrrty in yuur' eountry  to 'da't:ef'niiri:':' :.\ti.;flmme'r -a: ‘ransfer price : _ T S
: : i o Required: . Sl B sy

underral\en by a multinational js reasonable, ; ; L (3 marks) O " Interést cash flows at each mtemt pa}mem date: - codtite RSN s o H

(k) M . Explain the term “Credit (Icfau[r swrap”, ol 3 S Ej-‘i}ia-ks) . (ii.) Principal cash flows at the maturity ,\Plhe bond! e {3 ‘marks)
(Ii) D]scubs mme ﬁ:amres Orcmdlt %y hwaps el . (6 marLg)' | (¢} James Wanjohi is a perlf‘ﬂl:a manager fof an investment management firm based in ctéumry Ec c[:: h::yga‘rherﬂd the

B g Lo T o &
| ) ne f 8 DC surrency and country E uses
] l:xporlc:s Lid, a Kcnyan sornpnny, is due tb-receive 500 000 Narthlan:i dullnrs in 6 manths time for «ouds supphed FEA Fg“o—wmg data for country Dand country E. Country D us | y I

e company decides to hedge its currency exposure by using the forwar

d market. The Short-term Snterest rate i s o
Keényh'is 12% and the equwalent rate in Nonhlaud i§ IS% Flm spot Lxchang& e is 2.5, Nnnhl.znd doIIars to lhe ! Addlilullﬂl information:
Kenyashiilmg : L i ey

.. e . CountryD'sexpecied mﬂanon rate over the next ol is4 ?5%
) chulru.l ¥ : g 5 -I o Cnur\try_E § expected Inﬂa.lmn rate over the ue.xl year is 7
h[‘i:: gain or loss due to hedging if at the end of {he‘sbt_-inunéhs, lhe’-Kenyg__@]iillir_:gl' .ir_:__.relatj?_q fo :th_ .\I?;fu.nhlland dollar . S LSRR ENT xch:mge rafe (DCJH“) is1 '.'1"14 :
() Guined4%. - @ marks) ° S g g eyer “yield fo couniry D siskfres bond 5 50%
() B - " {3 ) v jTHe Oncyw y-|e]d fm—caunrryL s risk-frec bend 15235%

() Remdined stable,

T ¢ marks) R . ! E - The rdllu af cnuntr)r D puce fevel 1o (’uumry E pnce Ia\rel is i =1 1
(Total: 20 I!'lﬂrli._a‘}. W

Q u ESTIO NTWO

Requlrcd
a) D:scuss the rationale behind mtc*cst rate parlw anal_vsrs of' fomard ratm.

¥ ¥ d »
Sy Assuming that inflation:is as predicted.and the real exchangc rate remains constam calcq]glc t_he(;xirr:"::;]
o " nominal ex:har“a rate (DC.JFC) et the end of one year. L g TR i

_ - (G marks)
(b) Mohammed Abdul is a portfolio manager for Bab Lid: whosc repumna currency is the Umted Stales Dolldr (USD).
‘He holds a porifolio of French shares currently worth 10 mifllion Eufos (€):+ I orier fd: hiedge against a potential
depreeiation of the Ruro, the portfolio.manager pmpus:s to sell December fuiy nitracts on the Eurg.s that :,a_.urren{ly_._
trade af FUSD/E and exprre in two munths ! L p i

Assumlng that !nﬁatibn is as’ prn[hcrcd and the n:mal exchangc rate .al the. cnd of the year is- D%I ;ii:k:;
FCL.0, calt:ulate the ex post DC refurn on a one ycarcuumry E bund ] ol _

The : sput exchanga rate g curmnr{y USDI ue A month iarer 1he value cf‘ thc FrenLh ponf‘oho is IG 050 000 Eurus
and the spot exchange rate is USD1.05/6 wihilt the future e.xchungc rate is USD D‘JSJE ®
. Requrrcd

Ty Evalum ‘the: cﬂecnvenesu of lho hedae by ccmapmag (hb
partiolio return, - -

spricing ﬁmong

ﬁl"}' hedg,ntf purtfollo r:lum wnth the unhedged IE"P"““ ’m_ faci.ors : ([0 mak).

(8 marks) y wunln::s : g
. T ' ' g tocks G and D) stock
(i) o Calentate the rc-turn on the portfoi:o dssumingali“/- hea‘gc Sisp (6 marks) my - A Tamn!an investoris cansidering inve: rna;::/s in Tt‘:: Sﬂnmy{i:ﬁ; i\ma;i !i)pag;ﬂc légéa”:iia:s{:llimg i 1.25% whil
: . Bl d market risk remjui;is 6%, : .
| h n Py i E:rtz?rcngen‘:ﬁgmmm on thl: Kenya sh|11mg is 2% ‘I‘he mlen:q.t rate ‘on one }ea: risk’ frce bonds is 3, ?59’ in

! d . i Tanzania.
countered when using cap:tal nsset pncmg model (C‘APM) and arbnmca pricing iht:ary_ Addmom] information rc:atmg ] ‘he ﬂbDVE mV‘-‘Slmeﬂl is Pm‘”de‘j below
expected rates of return in an infernational capltal market equxl;br;um . {6 marks)

QUEST]ON THREE e i
ifa) - Diseuss threc pmﬁ]ems en
J:(APT) in predmnn"

.[-;.OL

by Bdrways Bank lencd expects that the French franié (FF) will appreciate against the United Scates Do!]ar (UsDj from

. ‘Stock L G A oo B e e e T _
Calls, spot e Uf 14 |5USD in 30 days Tﬁe fo]ioulnn m_lerbank ! ndmg and ho wing 1 e,ﬁmuldcd " Country ! ey Kenya . Kenya i ngandai_ Uganda
s A If'ndmg rsm_:a: 5 Bnm:mrmg Fates - B, (world beﬁ) ) 34 . 1 E - DSO i . ._. A ..1,5.
Frod Stucas Dollars - 5%, ' ) YKsh, {currency exposurs; Kshilling) ) 080 - 025 g
o iy - 8% il *. YKsh. (cureney exposure, Ushilling) . -0.25 i 0.75 s TR, N 08
fie nkerhﬁuk market : e : ; ; ey : : e sl >
L : Wi Reqmred h ! 6 mark!s}
. 'l‘he capltahsanon of Barwa 75 Bank Lunlted en its expeclations wnhnut u.smb depusned fuuds (6 marl.'s} " (i} The expected retumn for each of the srocks uslng the Tanzenia Shlﬂmg as fhb 153 CLT FL“C}' i
(it Esrsm:ne the arb:trage profit ihat could be gbnerafed from lhls strategy. - € (4 n}arfcs) (ii) lefcrence in the expected retums of the four stocks in terms of world beta, YKsh (currency .expnsmi, K:ﬂ:a ]
i ' 5h||im£,) and YUsh {currcna.y EXDOSI.ITL- Uganda Shl]ilng) i . {4 marks)
@y 'Two parties enter into a three-year swap agreement to exchangc the LIBOR for aT% ﬁx&ﬂ rateion’20- m:lhon United

‘imrcs Doliars {USD) of nmmna! prmcxpal I IBOR In the thrce years tums uur. lo he B% ?% a.nd 9% rcspcciively

_(Tg!nl 20 marks)

‘Required; ' ; ) g e
. Evahiate the c.lsh ﬂqw; Lha‘r w:IJ be exchaﬂ;,ed betwceu rhe wvo counier pames  E R (4'rriarks)

.‘....('_!’_c.it‘aig_lil\:u_‘irirs} .. i@ : ,»Lé’




KASNEB

CBIAPART I SECTION 6

Cled
INTERNATIONAL FINANCE
FRIDAY: 7 December 2012, Time Aliowed: 3 honrs.
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your
waorlkings. ! SR . .
QUESTION ONE . )

(a)

Thers has been considerable momentum to teduce or remove trads barriers in an effort to achieve “free wade”. Tom
Rey, a dispruntled executive of an exporting finn stated, “Free trade is not conceivable, we are slways at me mercy 0}'
the exchange rate. Any country cen use this mechanism to impese trade barriers”,

Required:

0] Interpret Tom Roy’s statement. (4 marks)
{i1) Examine six methods that could be used by trading countries to eliminate rrade resmchona_ (6 marks)
{b) Summarise four characteristics of the Euro currency segment. (4 marks)
(2)  The following information relates 10 the Republic of Zungaland for the year ended 31 December 2011:
k] . :
Sh."billions™
Export of goods 3,000
linport of goods — 3,000 ;
Raceipts from interest and dividends 1,500
Payments for interest and dividends 1,000
Gifts received fiom abroad 800
Gifts 10 foreign countries 1.200 ) ;e
Required:
A current account for the ysar ended 31 December 2011, (6 marks}
(Total: 20 marks)
QUESTION TWO
(a) Great 0l Ltd. is a Kenyan company which deals in of! explorarion in the region. The compan}r is consui:nug issuing
? a foreign bond worth 500 million United Statss dollars (LSD) to finance its oil expleration programme along the
Indian Geean. The Ipap will be repaid in 10 years time. The Kenyan currency is Kenya sJ:uHs.ttgs {(Rshs)s G
Required:
(i3, Explain why it is advisable for the company 0 issue a bond denominaied in a cunency different from its
home currency. (2 marks)
(i) - Analyse the risk involved in issuing such a bond. : (2 marls)
) Deseribe four methods that could be used by developing cohtries to reduce the inflationéry pressure of deficit
fnencing. (4 marks)
(c) A cail or put option expires in three months time and has an exercise price of Sh. 4. The undert lying stocle is worth
Sh.42 today. In three months time, the stock prioe may increase by Sh.7 or decrease by Sh.5, The risk fres rate is 2%
per anoum.
Required:
Using the bmumlal modai datarmme- 1'%
(¢)] The value of the call option. pi (5 marks)
{n 'I'h., vatue of the put option, %%+ {5 marks)
(i) fver: the call and put prices calculated in (c) (i) and (c) {n} abuw. tost wherh&r put ca}l pa:rrt} Lolds. -(2 marks)
= (Totali 20 marks)
_ QUESTION THREE 3 S :
12} Assume that United Kingdom invests heavily in government and corperate securities of Kenya, In addition, residents .

of Kenya invest heavily in the United Kingdom. Approximately 10 billion Sterling Pounds (£) worth of investment

* transactions occur betwsen these bwo countries each year. The total value of trade wransactions per yeer is ahout

% million 8terling Pounds (£). This information is sxpected 0 hold in the foresesabie fiture. |

Assuming that you are the international cash manager of a firm that exports goods to Kenya, your job requires you fo |
forecdst the value of Kenya's currency, Kenya shilling, with respect 1 the Sterling Pound.

Required: -

Explain how ezch of the following conditions would affect the value of the Fenvas shilling kolding other thirus constant

I

QUESTION FOUR

()

(b

f \ L ’
{i} United Kingdom’s inflation has suddenly increased substantiaily, while Kenva's inflation remains low. (2 markd)
_United Kingdom’s interest rates have increased substanlially while Kenya's interest rates remain tow.

Gy - '
s Im"esm.rs of both countries are attracted to high interest rates, . {2 marxs]
(iii) ertad Kingdem's income leve! increased substantially, while Kenya's income level has remained cEms‘anL .

7 marks,
{iv)  United Kingdom is expected to impose a high wariff on goods imported from Kenya. {1 mark}
(v Combine all expected impacts in () (i) to (a) (iv) above to develop an overail forecast. (3 marks)

. Xesp Lid. isa multinational company based in Tundaland. Irhas subsidiary compeniss in Bundaland and in the Zandaland.

Additional information:

T The Zandaland subsidiary menufactures eleciranic parts which are sold to the Bundaland subsidiary at

Tsh.8,400 each from whers they are assembled. In the year ended 31 December 2011, the Zandaland

suimdjary s0ld 400,000 units 1o the Bundaland subsidiary at a profit of T=h.1,600 per unit.

The Bundaland subsidiary incurred firther costs of Tsh.8,000 per unit and sold the finished product for'I'sh_Zl 000,

All the profits from the foraign subsidiaries are ramitted to the parent company as dividends.

Double taxation treaties exist berwsen Tundaland, Bundaland and Zandaland which allows cornpames o
offset foreign tax lizbilities against their domestic tax liability. ,

S

The following are (he tax rates amongst the tres couatries:

. Zandaland Tondaland Bunda?a.l:ld
Tax on profits 20% 0% 40%
Withholding tax on dividends - 12% 10%

Required:

The tmal tex pald by Xeep Lid. for the year ended 31 December 2011 (10 marks)

{Total: 20 marks)

The result of abolishing barriers to entry in the various segments of the financial services industries has led to the

ureat:un of l'nanmal conglomerates in the banking, securities and insurance indusiries.

In relation to the above statement, evaluate three sffects of conglomerates on financial services industries. (6 mﬂrks}

‘] The finance direcior of Saffex Lid. has requested you to construct an optimal intsmational purtfblm using the United

States (US) and United Kingdom (UK) stock markets indices. He has availed the following ﬂam in percentages, per

“month for the two siocks:

Rz = 2.24 Where: Rys = Retrnon US stock
ol T T Rux = Retumon UK stock
e ==t Z0.62 5iue = Variance on US stock
L - 30.86 §ux = Variance on UK stock .
Susue = 15.50 8% e = Standard deviation on US and UK. i

The maonihly risk free rate is 0.75%. s S L )

~Required: } . :
i - The weights of the international portfolio. . A Tty of 14 maﬂFSJ
-The expeeted return of the optimal partiolio. g :ﬁﬁ%

m) The nsk of the opumal ponrohu

- Bluemark Lud., a compﬂny established in Kenya. is \.:Jnsaderulg whether to establish 5 subsmlarv in South Afifcaatan
- initial investment of Rand (R)30,000,000. The subsidiary will run for five years,

The following are the expected net cash inflows From the subsidiary:

Cash flows
Rand “000™ ' N
13,600 '
12,620
0,500
8‘400 ,
3.600 : '

Year

o e b

Additional information;

f The mmhalamg tax is £0 per cent on remiited profits.

% The exchange pate is expected to remain constant at {5h.15/Rand.

3 At the end of the five years, the South Aftican government will buy the plam: for R24 UOU 000, This amount
will be repatrigted free of withholding tax, : -

The cor-amis e




Required: o i ;
Using the net present valie (NPY) approach, advise Bluemark Ltd. on whether to establish a subsidiary in South

Adftica. - {0 marks)
. : - (Total: 20 marks)

QUESTION FIVE hegR A o
(a) “Semetimes hedging is more costly than not hedging, vet most companies prefér ta hedge their long téam - financial

exposure”, Critique this statement, . . A o (3 marks)
{b) The following exchange and interest rates wers quoted on the Nasdaq Finandial Servicss Screen:

0-day United Kingdom interest rare - _ 8%

30-day United States interest rate 9%

90-day forward rate of United States dollar (USD)  20.65

3pot rate of United States dollar (UsDy £0.64

Dielox Ltd., a United Kingdom company, has inveiced Bendreck Litd. of United States and is mednt to receive 400,000
United States dollars (USD) in 180 days. :

Required: - g

Determing the amount to be received by Delox Ltd. using: . .
B " Forward contract hedge. i i e Lot Riharks)
(in) Money marker hedge. bt © {d'marls)
(i) Advise Delox Ltd. on the mast appropriate hedge based on your calculation in {b) (i) and (b) {ii) above.

. (1 mark)

] Describe five techniques thar a multinational corporation {MNC) 'mighr empioy Lo assess country risk before investing
in a given country. : . . 2 (5 marks})

(d) Leadways Led. has just fssued a fixed rare debi ar 10%. The management i§ considering converting this.debt (nto.a
floating rate debt and has entered into an inierest rate swap with & variabie: rate payment of LIBGR plus-1% in
exchangs for payments of 10%. o T S i
The interest rates arc applied to an amount that represents the principal. from its cument debt s ¢ in order to
determiine the interest payments dus at the end of each year for the next three years: Leadwiys Tl expioisthat the
LIBOR will by 9% at the end-of-the first year, 8.5% at the end of the second yeir and 7% tihe cod of the: third year, *-

z T we W ¥ ¥ S H e s Lt mems ey aet .

R&;ui]’éﬂi : ' S i 28 e ety
Fhe financing rate that Leadways Lid. expects to pay on its debt after considering the effect of the interest rate"sivap.

o e (3 mirks),
-~ (Total: 20:marks):

0

&S
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- INTERE_A-‘I?[DNAL FINANCE

MOMDAY: d June 2012, - I Time Allowed: 3 hours.

Answe: ALL q'uestlans. Ma:ks nilccﬂtad tn cach question ire:' shown at_the e:i:d of t_‘qclqm_:st_!i' .. Show .,}LL. your

vrorkmgs. ' B Z e 4

QUESTION ONE - ' : - : 24 (8 marks)

(2)  Outline five objectives of the intcrnahpnal Monetary Fund (IMF). o e ey
(5 marks)

(b) I, Eﬁ:plaih five ways in which increased- g‘,iobalis'ntmn might adversely affect the: multmanunal companies.

{ | duce their financing risks. uounfeipartv A

c Counterparties A and B both require UsD 100 million for § yems. Tore

" - would 1?1}{9 to horrow at a fixed ralz whereas caunwrparty B would prefer to borrow at a flodting rte. Counterparty A
is a company with a BBE credit ;atlng and sghnterparty B is an AAA rated bm.‘-k

Ly g - Y
The cost to each party of acccssing either the fined vate or the flonting rate market for a 5-year debt jssue is as follaws:

; Flxed-rate Floating-rate ' .
Borrower available available
CounterpartyrA2 BBB rated i -manth LIBOfPH- 0.5%
Counterparty B: AAA rated iz} 0% G-manth LIBOR =
Difference 1.5% 0.5%
Required:

" (10 marks) -

Formulate a classic swap structure. (Totals 20 marks)

QUESTION TWO . :
(a) Business managers and {nvesters necd balance of payment (BOF} data to anticipate changes in a hqst_l_cpu_n_i

econmmc polivies might be driven by balance of payment events.

whose

In light of the above statement, cxamine three spectfic signals that a country’s balance of payment data could proyide.

(o) Assume that the interest ate in New Zealand Is 9%. A Uniwed ¢ ingdom firm pians to bom:w New Zeéland dollars,
sonvert them to United Kingdom pounds (£) anid repay the loan in one year.

Required: : ) )
1] X The effective financing rate If the Mew Zealand dollar depreciates by 6 per cent. (3 merks)
(i) The effective financing rate if the MNew Zealand dollar appreciates by 3 per cent. i {3 marks}
(i} Assuming & 50 per cent chance of either scenario occurring, determine the expected value ol Ilwigf‘;:::::?
financing rate.

{¢) ° Asswme that the Japanese ane year interest rate is 3 per cent while the United Kingdom one year interest rate is § per
cent. -

e Yen to incur the same

The percentage change in the Japanese Yen that would cause & United Kingdom firm borrowing

1arks)
effective financing rate as it would if it borrowed pounds, (6 marks)

{Total: 20 maris}

UESTION THREE - o
g) “Many international transactions.require intecnational trade eredit fcilitated by commercial banks!,
i WM T i 8 - .

" lustify the above statement.

Evaluam five tec:qum:s that-could be usad by muinramnai ED!'[]QI‘:!UUI!S to managz their apemtina nskl exp(r}ls;resrkq)
G ma

(& e Sterfinie pmma' (§) iE¥id at United States doflars (USD) 1.9724 ifi New York and Eiro (€) 1§ offered 3t USD 1,340

in Frankfurt, At the same time, London banks are offoring the Sterling pound (£} at € 1. 4635,

(u ma[lks}

{8 marks)

QUESTIDN FOUR. o i

{2} ... Analyse th:erbemh:ﬂhalm mulm:ql,onal eorporation chid derwe !m}n mvcstm'- n Euru Imn-l ‘narkets (6 inarks}
b} Descrrhc how mullmnnnnal banks could manage the fnllawma nsks-
-['i) P‘flce nsks ) (2 marks) '
@n Trangaction risks. Ll ' X ) .- (Z.marks)
{ii}  Compliance risks. 5 = ¢ _(2.marks)
{iv) Liguidity risks. (2 marks)
(c}.. - An investor holds a European call option on a stock when there are ex-dividend datcs in two months and 'ﬁh-'e months
foon o time,eThe dividend on cach ex-dividend date is expected to be Sh.0.50. The corrent share price is Sh.40. the exercise
price is Sh.40, the stock price volatility is 30% per annum, the risk- ﬁee rats bl interest is 9% per snnum and the time
to maturity is six months, R v
'Reqmrcd' - ' T 2 .
The eall price usmg the Black and Scholes option pn:lng model. (6 marks)
T % 8 " i " © L. (Tobal: 20 mdrks)
QUES'] ION FIVE
{a) - Kowety Kazina Limited is a domestic company while Zimro Limited is a foreign company. Both companies hold
assets with an assumed standard dewanon of 16 per cent and 18 per centrespectively, witha. gorrelation coefficient of
0.4. The risk-frez rate is 5 per cent in both countries. i
- The expected rehuns of the domestic and foreign assets are both. |2 pergent, i
- Required:
Calcutate the Sharpe ratin fcr
) B The damestie nssht (2 marks)
o (if) . ~The foreign.asset. {2 marks)
(i) Internaticnally diversified portfolio equaily invested in the domestic and foreign assets.
{b)
adb'annfre oftlu. ngw ma ket
Attditionnal information:
1, 'The total cost of the subsidiary: s cstimated to be United States du!lars (USD) 4, 300 000, MNor-current assets
constitute USD 4,000,000 whilé the balance will be the working capital, - .
2. The subsidiary is ekpected lo generatc annual sales of USD 3,200, 000 and to incur cash cxpenditure of
~ LSD 2,000,000 ennually.
© 3. . The compary Has a planning horizen of feur years at the end of which it cxpecls 10 reailse the non-current assets
- of the subsidiary for USD 1,600,000, %,
4. "It is the company's policy to remit mammum funds possible to the parent compan)’ at the end of each year,
5. ' Tax is payable al the rate of 35 Yo in the Um:cd Statés in arrears, A L.oubfe taxation trcaty exists between Kenya
“aad the United States,
6. Tax allowable depreciation is at 25% on a srsight line basis on all nan- ctrrrcn{ assets.”
7. The company’s eost of capital is 16%.
Réquired:
Using the net present value (NFY) approach, advisc the mansgement of Mongam Limited whether o invest in the
subsidiar, (& |n1rks)
fch An ungeared United Kingdowm fivm, with a Beta of 1.4, is considering to tndertake a foreign project hy investing in an

é;g

- Requifred: - s
"‘,hnw how an astute trader holding USD 1,000,000 could profit fro*n al tnanuulaz arbltra':c. : ; {4 marks)
ditheii. WREE S T 3 i . o - (Totat: 30 marks)

smerging county that has ro stock cxchange. The cooncmy of the emerging country has a we al: correlation coefficient
of 0.4 with the United Kingdom. Due 1o oferating gearing, the foreign project is 25 per cept riskier than the United
Kingdom parent company.




«

© The bisk-fre
s Gl
annum, fale is 3 per cent and the expeels
peeted overall retum an the United 16
Required: ited Kingdom stock marker i
The rclurh. that the [J Mk i jper f ¥
i N nited King ' Age :
K___"‘ gidom firm should scek on the foreie (c) Assume that the Bast 'Afiican C .
— KASNEB {csis ik  been chosen-as the unitof currency, Tho 1 (EAC) monetary unjon has
: S14 PART I SECTION 6  Cl6z, . 2 (4 marks) :-::it of enrreiicy s the Rand. Azc?’m'fﬂ]'h; EACQis evaluating its rading now besn operativdelised and the Shilling ha
" FRIDAY: 2 December 2011 INTERNATIONAL FINAN (Totak 20 marks) B e lhe ‘;E;ltl}he South Affican risk free iniefc;ttlL: EAC risk-free interest mmc:ﬂﬁﬁ&ng b nistini “?h“"
: 1 Sati 4 CE 5 ; ; - vine ing. This has be 5t 1212 On one year b B oné year to maturity i 3
Ap - s g Y e en agreed onds is 13.15%. : ty is 14.78%
swer ALL questions, Marks allecated t | = outh Aftica is currently evaluaﬁrngu:]{;nei;ggmomgh svaluation of the ﬁ:ﬁ 'ﬁn;%@'s;gpﬂﬁ o ol
i 4 -ated to ea . w s - € rate mov e , e Pt S S
3;‘%“50” vk ¢h question are shown at the end of the q Time Allowed: 3 hours. b II({;qmrad':,--. 2 . i ﬁu.'l?nts within these two tegions. Al .Hlvestﬂl' living 1
) Summmari ; the question. Show ALT Oy Calcula gl =T y ]
immarise four assumptions underlying the Rinomi - S your workings. ; culate the one year forward exchan
(B) T Y & the Rinomial Option Pricing Mode] * {ii} Asses h. Tk ; ge Tate. .
ratonsd: icao i€ { . { Assess Wi s A
1S liabilities, rs that could be used 1o assess I s clher the Shilling is wading at forward — : {4 marks)
*s ability 1 Ty . {4 muek i) minm or dis
(©) it ek 1y fo gecerate sufficient forei ; (i)  Evaluaw whether the answer i . R ’
st Dealers Lid,, a company based i gn exchange fo service in (¢} (if) above is consistent with i : i (2 marks)
Ame. tiva; On 1 Septembe ly based in Kenya, specialises in § ) = “ (8 ma 0t with interest rate pari 3
The o er 2011, the 3 alises in im; i ks) parity. Justify
mpany was granred three company imported 2 consi portation of motor cycles fro, : . istify your answer.
S onths credit by the supplier pa}ﬁ:ﬁ:m ;m,-m United: Staise dOIﬁ:?U [;mted States of - g;IE._ST._IQNI?OUR (T (4 marks)
% | ; £ tals
September 2011 and 1 December 2011 7 | December 2011, D) 2,000,000. (1} Qutline five causes of international deb i
G ] were as follows: i toi e e i e Wil ; '
1 September 2011 . “USD/Ksh. ! _ o ‘U) Highfight five measures that . )
I ety 0.0065 . ey ; (B R;hema WEA s gy cauld be put in place to addr, " e (5 marks)
i 0.0060 M Justo is a foreign exchangs deal e [
ember 2011, shilli i C i Swiss Francs (S hange dealer in 2n internati o PRI
| By shilling finures are fore : - whether she should i equivalent for & short term tional benk. She has United Staies dollars (
1. recasted to trade ¢ ‘ #y e 3 invest in USD for the term money market invest fes dollars (USD) 10
" at USD 0.00675/Ksh. (contract S T theee months or make a cove ;f investment. Rehema Justo is und ,000,000 o
equired: ; B size Ksh. s ©** The followin : red interest achittage imvestment | undecided as
® Show how Mare ' . e s § rates are applicable: arbittage mvestment in SFr. €
% XIu . I .
P iy Dealers Ld. could have used a fifures artn e B 3?;;f§1;angc r:te S
i ‘ centract as a hadgi T orward rate b JSD
) The: number of futures ¢ : cdgmg tool indicating any hedginy s rh 3-month US interest rate SFcL. 2760/ UED
Shi4 million, onmacts that Morexnt Dealers 1td = n i marksf i _i-mnnth Swiss interest rate, 4.800% per annum
) - could have: purchased if the Sal I 'R £ ! BREsTie 2.200% per-annum
g)UESUDN e coutracr(;.izg wag - {i)qullreliI;d i =i
Distingai ' g marks 2 e vise Rehema N
stinguish between “interest rare swap” and ® (Total: 20 marksi (i) ] L : I}_“SID ool of the two investment alternati
(b ! nd “curren; " : 4 . (07 Determing mattves io 503
) i: American fim, Dow Chemicals 1. oy Swap', - ; e erming hex rate of refurn oa the investment sel pursue. Justify your answer. (8 marks)
same t icals : i ' S ik it i i 4
StamTF time' a French magufuon td, is considering bedging so X : (4 marks) i i ccted in (b) (i) above. 4
America (USA) macket ter, Doltex Lid,, is seekin Bd;!;m of its Furo exposure by b i QUESTION FIVE ' . (2 marks)
Both companies - & dollazs to finance additional }I{nvisri?]wmg.in‘Eums, At @ Explain two roles of an international - I (Fota: 20 marks)
Dow Chemic want the equivalent of United S : tment in the United ) ational portfolio manager. .
i Drs.zs%alsELtd: can issue dollap dﬂ'tc:-:'md States doltars (USD) 200 mmilli . - ) by Desaribe three ways through whi
credit ratings, quivalent rates fi nominated debtara o million in fixed-rate financi liabilitics. +which a multinati ; (4 mark
it ratings, or Deltex Lid, are 7.7% | ;uﬁcn rate 0f 7,5% ar Bure dc:Ire financing for 10 years national corporation could use wansf 3)
) -4+ in doll s uro denominal . e ! - : .
The current spy ; ars a0d 8.1% in Enros. Both éndLEd debrat a coupon (e} Zelon Limited, a multinati e
spot mte is €0.75 omipanies have simi A0 ralsing funds ft national compa :
) 5. milar ng funds for o mpany based in the [ng . - (6 marks
Required: : 2 project in Argentina duri in the tnited States of America (1] e o )
Show how D . . . = iThe fellowing i mg the year 2012. ca (USA) is considering aliernati
0w Chenicals Lid K owing information is avai ) e i HER ey o
(c} Expl i would us a fixed rate financi i ! . 1s available: . :
Explain the following 1 nancing by swapping wi . i, S sk A
B WIRG ferms as used in intermational finand PRpRRem L - - o (k) t "?'--r'iarig}u?htiﬁ;i;r;?
1 Cumesiey b : o . ance: : mar] ; Tisk fiee rate 4 .
¥ boards, « Riske pram Cen
- : 5 U : P i Rj“k-'grenﬁum on iu]!ar-cllenominated AT o s 6%
Dellarisation, - : g Beta ofpm,-w“n ORI PESB-danomir;:)rcd :k;d by UB ereditors o
o tprovided b : 3%
il s £ B o2 ] ¥ Arge i o
(i)  Sterlised intervention. timesa) ’ I%;P:zrt:gi ::rkct e ¥ Im_ne Em_l'-?lmrs . WA
G @ marks} Argfmﬁn Tate 1.5 ==
QUESTION THRER : € COTpoTate tax rate - 14%
(a) Dutline five characteristic i o s o (@ mads R : g
; rant cleristics of a myltinalional corporation that 'might influcnce ils b (Total: 20 mﬂrksj] U)equjrené: ) 0%
cost of capital to differ fom that ofa ~ " ost of dallar-denominated debt
{by Highlight five instruments ¢ + (5 narks - ; : d
AlE enis that could be used to & . . inarks) {in Cost of :
purce i ent A .
equity in global markets. s o Argentine peso-denominated debt. (2 marks)
1 Cuost of dolla -
: rd i . : 2
T A{ (@  Summar e (2 marks)
3 1atise Tour advanta :
ges derived by ex
by exporter i (2 marks
porters from using a letier of cradit. e tg,,
oy }ﬁn#}fs}. /
i FrEY
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Answer, ALL.questions, Marks nllocated tb each Lljarlesti'qn are shown a of ‘the question.” Show ALL your

workings.
QUESTIONOBE ., . , R ;
(@) Ontline five factazs that dftbet ihis pricg pffan opicA", | T * L

unptions of the Black-Scholes mode] of opfion pricing:

&) arise five el e, {-
() 0] With the aid of an appropriate example, analyse the concept of c?:mpﬁrafive Iad\rantét.gs. ¢
4 £y Disonss the imitations of the theory of corparative advantage. . R aan Ty iz, {3 marks),
S Pl S M : G gt . (Totaly 24h marks)
QUESTION TWO . i = : .
(a) With the aid of a wellJabelled diagram, explain the concept of “overshooting” a5 used in exchanga rate movements.

] Sure Motors Limited, a company based in Kenya, deals m ﬂie importation of “vehicles. from Japan for sals. The
company has ousourced the shipping of the vehicles to Super Lift Limited, fa‘cqmpggx_w!liqh deals and bills in [uros (€).
In order to prevent losses in foreign currency operations, Sure Metors Limited hedges all is opérations in hard cumengies.

Curtently, Sure Motors Limited is holding a'pertfolio of United States investment worth US Do@la‘ﬁ_(ﬁl‘Q,ﬂUﬂ,LHi&
The Securifies and Tnvestment Analyst of the company has advised the management fo exgage il dynimic bedge of
48 §/€ s¥change risk by buying Euro calls. On 1 June 2011, -an August 2011 100 Buwro call is quoted at §0.02/€. This
gives Sure Motors Limited the right 0 buy one Bura for one US Dellar il Auguist 2011, "The délfd of the Burg call'is
0.5 and the spot exchange rate is 31/€. The size of the dptién contract is €125,000. R SR L

Required: i i ¥
e The Euro calls Surs Motors Limited should buy in oxder to obtain an idzal dynamic hedgs.
(i} Assume fhat.on 4 June 2011, the value of the US Dallar dropped to $1.1/€: “The ﬁﬁtil:of:ﬁ{e.ﬁlﬁﬂzﬂﬂil asat '

that date was $0.11 and its delta was 0.9: - 3 i ; sHIEY:
Bvalpats the strategy of the Sscnrities and Investment Analyst nﬁém Motors Limited (in Euros), given that
the worth of the portfolio investment remained ywmchanped. i T ETLTE marks)
Advise:Sure Moters Limited on what conld be:done to:rebalance the hedge. . G B marks)
. i o T Agiei 5 L _(Tl‘p_ta‘{.___f_.“,_ﬂ marks)

(iif)

“QUESTION THREE P : ) ey o T i et
(a) Explain six benefits that would accru to a company from cross border Hsting of iis shares. * ©T (6 marks)

(b)  The data belowrelates to two multinationsi companies, AAA Limited and ZZZ Limmitad: - o

AAA Limited 777 Limited :
Fixed rate market 12% 10% :
Floating rate market Prime + 1% Prime

777 Limited borrows long-termi'at a fized rate of 10 pereent, The eompany plans o' convert this fixed rate liability
into 2 floating rate Hability. ; Sl fa i

ZZZ Limited enters into a swap deel with AAA Limited. ZZZ Limited is the floating-payment party, iigreeing lo pay
“prime o AAA Limited. The two companies-dgree to share the savings ininterest costsequalby " ool

ﬁe-qulred:
Given that AAA Limited 35 the fixed payment party lo ZZZ Limited, determine the fixed rate that AAA Limited
" si;n!;lcl payin the swap deal. (5 marks}

{(c)  Global International Limited is a multinational ipvestment bank. ‘The bank is considering issuing a US Doller 3y

' Japanese Yen (%) dual.curency bond for $150,000,000. The bond will pay ths coupens in Japanese Yen and the

principal amotmt will be repaid in1JS Dollaré, - The bond will mhake 2 principal payment of $1,360,000 in twa years

with interest paid in both years | and 2. The spot exchynge rate is ¥1 10.29/$1. The yield curves on the US Dollar and
Japanese ¥en are flat at 7 per cent and 3 per cent respectively:

o -'["_iir'\e"jﬁj!!nwediﬂ hwuss.

. ThecoyponTale if the bond is issued at fair market conditions. (] roarks)
(i) The nercentags price of fhe bond if the acmal conpon rate i 6 per cent. 3 maxl;ﬁ)
o ; " ' i {Totak 20 marks) o
. QUESTION FOUR
{a). ‘The East Afiican countries have sstablighed a common markst for the Zast Africa Community trade blo¢, which came’
. into effect on 1 July 2010. The East Africa Comumunity projects to have a common curzency by the year 2012,
Triscuss the banefits thet would acorue to the East Aftican conntries from the adaption of a common currency, (8 marks)
{b)»  Ulnzi Limited is considering invesiing 60 per cent of its funds in United States cqﬁity tnarkats and 40 per cent in the
! . United Kingdom equity markets. The expected retums and risks of the fwo markess are as follows:
Expected Expecied
return (o) risk (%)
Tnited Statss equity index | 14 15
United Kingdom equity index 18- 20
The comelation coefficient between the retumns of the two markets is D24,
Required: 3
The portfolio standard deviation. Interpret your result. (4 marks)
© XYZ Limited, a company based m Kenya, is considering npptyﬁ;g for a fmalfgn CUTIENCY syndicn.ted. loan. The
following two options are available to the company:
Option A
A United States (US) Dollar loan of US Dollars ($)30 million with a 7-year maturity at an interest rate of § per cent
-per anium payable on én annual basis, There is a 2-year grace period after which 10 per cent of the initial principal
armount hias to be repaid armually from year 2 to vear 6 and the balance at the end of year 7.
&,
~ Option B
A Dritish Sterling Pound (£) loan of £80 million at an interest rate of & per cent per ammum. The loan has similar -
maturity and conditions of repayment 2s the US Dollar loan,
The currency in use in Kenya is the Kenya Shilling (Ksh. ).
The current exchange rates are as follows:
Ksh.80%
Ksh 130/8
.. The US Dollar and British Sterling Pound are expected to appreciate at the rates of 3 per cent and. 8 per cent per
annum respectively. y et
Required: s
) Evaluate the two options available to XYZ Limited and advise the cormany on the best opticn. Y {# matks)
* ‘ ) : 3 (Taotal: 20 marks)
QUESTION FIVE » -
(a) Contrast conntry risk from sconomic risk. @ oarks)
[4:3] A certain multinational eorporation is in the process of formuiating sa international financial polisy.
Suggest four ethical isues thal could arise during the formulation and implementation of the international firanciel «
Jit (4 marks)
policy.
() Amalyse three organisational structures that eonld be adopted by a multinational corporation for reducing iax(lsiabili;y.) )
marks
(d) Beth Muma resides in country X, which imposes 2 wealth tax on financial assets. She is considering investing

Required:

Reguired: 7o :

Sh 10,000,000 in the country for 15 years, The rate of refurn on the investment is 14 per cout per annum. The wealth
taxt is 3 per cent per annum. Mo other tax 18 payable on the investment. !

(3 marks)

{i The vatue of the invesomentafier 15 years.




©

(iig. The percentage tax drag, Interpret your result, (5 marks)
= {Total: 20 marks)
' INTERNATIONAL FINANCE ~ CSIA PART IIT SEC'I‘IO.N [

Fﬂm.ﬁ:;a'.ne_cg' bex 2010~ Time Allowed: 3 hors

QUESTTON BREY vt on FFT T8 i S beee. .
(a) Briefly dis_s;uss the reasons for the emergence of multinational corporations.

(b) *" Desexibie tis prodess of bvérseas expigsion) "

(c): Eaplain the factors that affect the cquilibrium exchange mie,

QUESTION TWO

fa) Explain the following termus a5 used in international finance: 5 " et
() . Translation exposurs.

(i) Operating exposure.
(i) " Trensaction expusure.

(b) The following exchange and interest cates wers quoted'on the Reuters Financial Services sevsen:

‘Currency . . ° Minety-day interéstrates . Spetrafes Ninety-day Torwavfrates: .-
-Pound {£) The- 1% ¥240.9696 - 9912/f ¥224.5731 . 86904E 7
- Yen(¥) Bl L e SR s
- .. Required: I A W AT Lt
(i) Determnine whether there exists an arlntzage oppoﬂumty (9 marks)
. (u}r Calculate the pmf’ it i arbrtrag..ur would maerfrum £1,000, [}FJD g ) ' I : (2 marks),

xbﬁf'ﬂmw

{a) In the context of international finance, explam the following: n ST
Sl My e “law ofonepm::” is' enforced by international erbitrageirs, I ol '_ (3 marks)
i) i’un:!:u:smg powerpauty(BPP‘r thr:ury - _ . : _- — (3 .‘-:‘1&1'5;5), "
. [m} . Interestrat“ e parity (l'R_P) themy i {3 marks)
" ' ek ' . Guaks)
{b) e I‘he fo]‘lomng mformatmu relate:s tor mﬂanan nnd excimnge rates mK:nya and Rwanda: :
i Kenya . Rwandz _
Inflation rate {per amwmj Lo T . 5% - '
Exchange rate: 1 Jannary 2010 9 RFr, = l Ksh.
.. Required: ;
Usmg the PPP theory, estimate the exchange rate between thc two currencies o:n_
. -{) At Teskebieanin < P e - , : " .. ()
-{i)+ 31 December 2012. " (2 marks)

{c) Assume that between 1995 md-_i-l)i} the Japanese Yen (¥)/US. dclIar (3) exchange rate moved from ¥271.96/§ to

¥112.75/%. During the same period, the consumer pncz m.dc‘.x (CCPI) in Japan rose from 109.2 to 143.0 while the
United States CFI rose from 98.9 to 1899, -

Required:
]f PPP had held over this period, determine the ¥/$ axchangc rate in 201 0. [nterpret your answer.

- (Total: 20 marksy .

QUESTION FOUR !
You are the Financial Analyst at 55A Lrd
mtemaumai mm!.et.

You have obtained the following data from rhc Morgau Stanley Capnal Imematlonal Plam; o Hpihe -
10, thy bet: s
foreizn markcts and the United States (US) market and the “,raﬂd T £.10, the. comelation between. some.

Coun‘rry Correlation with - Standard devistion Beta frum . . Corr:uﬂmn mr.h I..:.Bllzl-li‘i-ll.;.l )

US market of refurns US perspective Ve index . world, perspecﬁve
% -
United States 1.00 5320 iy o 0.34 gag
Canada 0.7t 66.53 ? T g T '}90 '
Japsm_"' | 0.29 . . 79,49 g 068 - b,
Austia g 72,85 ? 633 ?
Svieden 0.42 7846 ? 0.57 g
United ngdom 0.51 ' 8227 ? 0.68 s
Worldindsx  0.84 4953 .78 S S
Required: _ SRR et o
{a) (] Calculate the, hcras for. Candda Ja];ian, Austria, Sweden and United I\mp}: 1) both,fmm the US and world
parspccuv& (5 marks)
(i) Comment on your results in (2) (i) with referense 1o the US and the werls, .=".<a;icx be‘tas. b (1 mark)
b)  Highlight five risks of international equn_sr investment, = (S ‘miarks)
). . l:xplam the benefits that would accrue to SS4. Ltd.. .Emm mtemanona] pcn{a]m I Ve cnmnr_ (4 marks)
gy s -ldantlfy and-explain the barriers to international portfo]m drven:s:ﬁcatmu (5 uﬁ:ks]'
(Total: ZD_r_;aa_l_rk_s)_
JUESTION FIVE Lo 85 v B b mpiiat
a) . ‘I_n the context of a currency futures matket, differentiate an initial pc;-furﬁmncc_ k74 from & mainterance performance
bond.. _ . : i b L {4 marks)
b)  Explainhow the process of marking to market of a futures uuntzactprb&cts in;'lr-;-—-*t v i-a-. c.ase c'i; fmge '}ésses (4 mlarks)

c) ~ Or Monday meming, you short an Chicage Mercantile Exchange (CMEJ

¥12 :500,000 at a price of US doilars (8) 0.008233. , Assume that the broker res
_and & maintenance performance bond BE53,400, I‘ha settlement prices for Menc
30. (108381 $0. 008175 and $0.008169 rcspnmvc]y On Fnday you closa out ihe 5

fan f¥'j furures contract cnntammg

58 3 pcrfurmnce bond of §4,3590
lay.through Ihursclay are. 50.008342, .
S stract at & price of $0.008194,

Assume that you begin with an initial haIzmr:c of 54, :90 and that }'Uur ruu.nd—mp a,\.mnussmn is 32'? 40:

Required:
8] The daily cash flows on your account: (6 marks)
(i)  Desecribe any performance bcmd ca]l; on

your account and hencc detern:une thc cash balanca wnh Your broker
as at the close of business on Friday. ’

X (6 Tarks)
(Totak: 20.marks)
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i Auswer ALL auestivns, Marks aﬂaca&xt to em'h quwtmn are smnat the end of the quesimm Show ALanur mrk‘ings

; A

UESTIDN ONE
: g) Capitel budgehng for 2 mmgu based praject IS l.ﬂssly i be wns:datably ,m:e complcx tl:m mpxtal budgah.ug fora
: - domesticgroject T - .

Explain five fhetors fhat wouid pose challenges in capital hudgsatmg {ora funugn based g}mject. {10 mayks)

by Distinguish cm’ared inferest arbilrage ﬁ'omu;ncmmdmmrest arhitrags. (5 marks).

@ The infesast 7ate on a given investment in pound stexling {£).35 12% London while the interest rate on acrmpna}:l}e
| nvesiment i US dollax (3) fn Mew York is 7%. The £ spot ate i5 51,95 and the l-ye-'!.r forward rafe s Sl 88‘

-Rm

‘Caiculsfe the prefit aq a&;:hagcnr would make fom e disue; noy in the intérest mates based on a $1 million
gamsaction. - | " . {5 maxks)
(Total: 20 nomiks)
QUESTION TWO '
{z) Ewlamﬁmfaﬂowmgm ;
' ) Mnlﬁ'{at:ralnmm; @ rn'.:rﬂm)'
()  Cumemy coliacs. {2 mrks}

- (b} Infiag Limited s a Kenyan bﬁsad ruliimational compiany with four 100% aned sibsidiaries based in Uganda,

Rvrands, Malawi and Zambia. The four suhsidlams e:q:mmm- ma_mr cash flows amuugst themszlves
The foching viere the cash flows for the mcmth of Aprl 20H):

Amount paid in US dellars (*000°)  Doruicile of subsidiary receiving

Doricile of subsidiary paying
: Uganda” 300 : Rwanda
. “Ugands 400 = Zambia
5 Rwvanda 250 o Upanda
: Rwanda i 200 i Zambia®
ik ~Rwanda 300 Talawi
2 Malawi ' S0 200 : ‘Rwanda
: Malawi 259 g ; Zzmbia
Zritya . ST 400 ’ - Ugends °
Farnbiz ’ 600 : . Reanda
Zambiz ] 500 - Malwd
Eaquired: )

@ Ulsing 2 tzble, {ifastrate how the sibsidiaries covld bansfit from multilateral nelting. (5 marks)

() Bplsin the begefitthat the subsidisrics vould derive from the ronilators! netting in (b) (1 sbave. (2 marks)
{©) 7 InSeptoumber 2009, Midtinational Industries Lid, {Mﬂ.} pﬁdmted tho Flarch 20110 spot rates for e pﬂu.ud stezling QZ}

tobe a5 follows: .

Spot rate(5) ’ Frobability W & . "
1.80 D15 LR Tg e et e '
1385 020
120 023
195 - 020 -
200 020 . W el Ea

& Esqoecteds;wtmi:fctMerch"ﬂl{} o oy (2 marks}

@ ik sixanonth forwad rate s $1.00, sdvise BAIL, whethir fo se fmmd s 2500 00 tzzde r-:ewables dne
i Mareh 2010 {3 marks)

VF

i QbEsTION THREE,

(Total: 20 marks)”

“(a) ‘Differéntiate between the fu!!owmg sm of ferms:
.l Pﬂ_}""gf wm.@ﬂmw\'ﬂ swaption. {2 madks)
, LU ) Conpamtive ndvaui-a;gﬁ ard zheoluts advantage: 2 m:uks).
E (b) - Explain thres msons.why mstcm&gh-lg seonomies adupt tiade Testristions. {6 marks}
E65) Diseiiss five .qmu.mm to intarnational capﬁ& mebihw 5 {10 mzks)
b : _ _ - (Tntaj 28 mﬂrlﬁ)
: | QUESTION FOUR s '

1 The managers of BRM Ltd., 2 Kenyan multivational, sre discussing wheﬂxer ar ot to gt up a forsign subsrﬂia-ry ina Soudmn
' African country. The govermnent of the county has recently changed itz policy towards foreign imestrsats. Orne of the
" measnres that could be implemented in the firture is the clanse io restrict the remiltances. of dividends from the Southern
* Afcioan country. BEM. Ld. sspects to remit about 180 million Kwacha per yoar to Kenya if foe government docs not
:mplemnﬂhepn]wy Restricted fimids may be reinvested Ty within the Southern African country, but fhe goverment
nf that country i likely 10 control the domestic injerest rates,

G

The investment in the' Sumhem Alean country sn.hsld.lxry has an axpat:had net present value (NPV) of Ksh2 nﬁlhun. 'I‘hn
* Rwacha is cxpected 1 doprevisis by approximately 10% per year relative to the Ksh, The cost of capiial for BEM Lid. is 20%
. per amum for the Southern African capital myvesiment, The cument spof exchangs rate is 20 Kwacha/1Esh. The ourecy of .

. the Seuthern Aﬁ'!can countqr is the Kwacha whils tms currency mKen;m jathe shillmg (Bsh). -

Etzqmre.ri
- (a) Assuming tlm‘r the Scm.hrm Afiigan CoimiTy restricts semitiances of dividends-for 3 yeats; caleulate the apprcmmaha
yatgimom inferest rate req'uued i order for the investment to be Sasncially viable. {9 marks)

i(b) . Discuss the alternative ways which BMK Ltd. couid yss to aveil the restriction on fhe remittance of dividends. .
) : ; . {6 marks)

e Explain]mw cmtency options could be used to mandge miexestrm risk. " {5 smasks) ,
QUESﬂON vE | . y (Total: 20 marks) .
‘fa) ' Explan why fnrmgn curreney cash Imlances do st canse frinsactions expos'up ;

(3 marks) -
! b} Using 2 suitable exsmple Eq:l)im huwmtchmg af d‘l:n'ency cssh ﬁewa éurlln‘ oﬁuetopmmgﬁwnra {4 marks) I

E{c] U8 Fd, a cmpamy Bazed in the Uurtrd ‘;iﬂm (178), sild machindry to VR Iitd, a cmpauy based in the Tnited
: Kingdom, for pound sterling (£) 1,000,000 Tm.*sale wasmade mMaIchiﬂl{! I‘hepxyxmwssdnemﬂmemmbs

,_:néam@ofjhgéé.;sﬂ;m@m;gs). _' il N R A A e

i

i The following information fs pfu'mdcd. BB s LS : ¥
: Spﬂ exc)uugcratc Sombr o0 T CE LT O W
Three-morith forward rate $1 754002 R DPE w,  IEE :
Cost of capital 2% = - W o= £oaE
UE 3-month borrowing inferest 1at2 10% per anmns : Lo B0
UK 3-month investroent intereat rate E-% pLT Anmum L
S 3-manth borrowing miterest rate -89 per ammpm L= o

',

US 3-roonth in'eslment InteTest ate 6% pex anmum ; S o \

barch 2010 put opuunmﬂn merﬂ:e-csmcr (GTC)mzﬁtttfar £1,Gﬂl}090 mikepme SJ 75 {uzafly atthe monsy);
] 5% premdom. -
Mareh 2010 pat option i the OTC tmarket for £1,000,000; strike price $1.71 (out of the ﬂ:mtey);-i% fram}!m‘!.l

The US Lid s foreign exchange advisory servics forécasts that the sp ok zate o thise monts will be Si.'.'FG.fli,

Required: ;
Determine the gt of the fllowing hedaing techniues:




5 f ; ‘{i'i} Muoney market bedge. : ? - . (5 marks)
| ﬁii'}_ Qpéions warkst hedge, ' (s nmés)
! : rgs, % _ . (Total: 20 marks)
CSIA PARY O _ ; s
oy INTERNATIONAL FRNANCE
FRIDAY: 4 Dmmngfzm. Tiine Allowed: 3 Bours,

‘Answer ALL questions, Marks. aflocated to each duestion ars shown at the end of the question. Show ALL your
workiuge : :
QUESTION ONE _
»inEtplorod b is.2 oulfinatienal conpany, ~Thiz company meads to.enter inta 3 forsipn marketin & developing economy. .,
; n‘g‘q - . : . e . . -
(@) - Explain twe advantoges and one dizadvantage of the following modes of eatry into the foreign markets that couldhe

. #

wsed by Explope Ltd.:

O By | (3 )
) Tocsoy pojets. I | S
@)  Ticensing. P ) . (3 murks)
(@)  Fraachising ; : : {3 marks)
{) . lointvenfures, ' . . (3 macks)
(W} Wholly ewnod subsidisry. ) : iy (3 maks)

® Brplaia o frst-mover disadvantages thel Explore Lid. may eocounter by entering the forelgn market, (2 marks)

(Totak: 20 warks;

QUESTION TW0 :
@ @ Dﬁuﬁe three types of axposures that roulinational companics (MNCs} face by investing in forelga countries,
%s - - 2y 5 > {6 marks}

it} Explain how the MNCs could mifigate against fhe exposures identified in (3} (i) ahove. (3 marks}

: ® - Dopoy Lt4. vequires stesling pound (£) 000 in 186 da i et vah gles for
: s : i und (£) 260, yS fimg. muumpmﬁconuﬂmgvmpussmmgmm
whise carrencies are the steriing pound (£) and US doltar (8) sespeciively is avaiibie 1o Dopsy Lid.;

£ spoimate = S!Sﬁ-
£ {80day borwardrats = 5147
UE 180 day depasitrate = 4. 3%.
UK (80 day borrowing rute =.5.0%
US 180 day depositmte = 45‘}:
US 180 day bomowing rate =5 0,

v .:ddihunal Information: . =
; A cail uption on £ thut expires in 130 days bas sn exercise pric i
il wpt ires | prase of $1.48 and 2 premium of $0.03,
. i . A put option en £ that EXPTRS i 180 days has an exeroise price of S1.40 25 3 premiv of $0.62,
i For puposs of the option, Dopey L. belicves the spot rate may take fhe following probabilitics:
Spetrate  Prabsbiity {70}
0

E.43 bl
$146 m
§1.52 16
:- Assiune hat the forward mate is the conect prediction oa fature spot rates for purposes of a no hedge strategy.
equired; SR o I L SRS : )
Coupute the impact of the following strategies availible to Dopey Leda - - L
i) Pormard matket hedge. - (Zooks)

Infomation regarding the Usited Kingdon (UK} ard United States (US) fowrkeis .-

() Money market hedge. AN (Zmarks)

" iy Option markst hedge, i {2 marks)
(v Nohedge. SRS ) : (2 marks)

(e) * Using the seSults obtained in (b) above, advise Dopey Lid, on the besi strategy to use t xeise the £200,000, {1 mmark)
i ' . : -. . (Fotal: 28 soarks)

i {=) Explain the dislinguishing characieristies berweea a foreiga camency ﬁ.ltumf mmmmdsﬁrmdmm&;o:::)
(,b}. éxplaiuﬂtf:b!lowimhmmin&cwu&xtoi’anqﬁnn: b

TS b - - C puek

jnl.l.(ﬁ} 'ﬁmev;!u:. el (Zmdm)

i (c} o A specul g for Tutsrpational o y Traders believes that the Msxi?anpesc {Ps) will fall in vaﬁe rda-ti\fc

i+ 1o the US dolter (1ISS) by Jaunacy 2010, He obssrves thap

P B A Javunry 2010 atires coatract is for Pe 500,000,

L The prices are quotad i US doliar per Mexican pesa.

G0 Regured: o -
(i m;mmmamﬂmmm}&ﬂmmumaummofW.lOSSE:‘Ps,
' catrubate his pmifit oz Joss if e spot exchasge vate at imaturdty of the contract is S0.0950/Ps. © (3marks} |

o

- B oo TR e B o loug position o tue Mexicsn peso

confract at = sottle price of $0.30955/%5 aud the spot exchange rale at matarity of the comlact was

£ ouE $0.08000/Ps: .. il . {3 marks)

| Sy @, (Totak 20 marks)

{2 B e v :

:.anoxm Q:'-;‘- i o . ik g e o

. (a) Exphjnﬁ;;_;tggig_ggfiﬁ:ﬁ:ﬁuwmgm and their importance in internatipaal fisancial muwkets:
® LmEOR ' . _ @madc)
(i) Bucbor, ' : i (2 marks) . gt

{t) ABC Bank Y, emmdhmamymmmymwﬁhm&mmnmms ago by ngracingmswap'
US dollars 1,600,000 for Burg 800,000 Ths bari agrecd to pey an ammal fixed rate of 5% on the Biro 800,000 and
teceive @ floating rate tied to LIBOR an the US dollars,

The current LIBOR ar:d Buribor 1ates and the corresponding preseat value factars ara shown in Bhe table below:

Days  LIBORTates(%) . Presenivalue frctar Enribor rates (%), Preseat vlue factor -
; Y ©sm . A IR 03900 -
: 90 - 4.4 09891 36 09842
: 160 43 ] 0uIg © &) nome
180 - 52 05747 - 83 0.9695

Assmdmmumwunsmgnmssmmsmimmmdmewmmxmu'ﬁﬂ&,
. pymestdatewas42%. 7 . :

b ired B ¥ = : )

Usiung ths sbove information, determine the valun of thy swap o the baok today. {12 magks)
(6} An imertions] money market invesior is preseated with a hidui‘?.&&lSUSdnlﬂufpumdmdm:asir;of
: 1.6635 US dollac/povnd, : . )

Deteamine the bid-ask spread as a diroet quote from the perspeciive of a Britizh ﬁz\;esma. {4 wmacks)

! : * {Total: 20 masks)




"

L8 Differentiate berwesn & straddle and astnmg!e in the context of u un:ency desivatives.

L]

v {2 mrks)

ESTION FIVE
I_QE;} (D Describe the term e a:bm-ngc : ks),
e b o
0y Explnin how multinationz} companies could use tramsfier prising 3 o means of tax arbitregs.
I ' icing. 2 marks)
{if) *  Suggest rm ways in w!ﬁch tax suthorities could curh abusss of wanefer pricing. ; (
' (2 cadks)
I i “mmgula: arbitrage”,
(B) 0} Explain the ferm
US dollaz
i Able Lid. has Swiss Frmocs (SF) 10,000 000, The conpany could buy or sell the Japagsse Yen (X
a {US3) or the 35 quoted at the fallowing exchanpe rates:
" Bank Rate
| CitbankLtd. . V120007085
Dentch Bank Lid, SF 1.60/U8$
Barclays Bank Lid. YROAGISE
T i i {8 macks)
Ca’!m]m the pmﬂt thee Able Uid, could realise thmugh muagutat El.\'blﬁﬂﬂt_ N
' ' INTHRNATIONAL FINANCE

- PILOT PAPER
: Time Alloswed: 3 hos,

Augast 1509.
Answer ALL musns. Mar!;s a.llumleﬂ. to eath quﬁmm are shuwu at the am! of the quesumt.

UESTION ONE. v -
g) lggcuss Lhewncopts aof hmmnml arxd vertical Enrel,gn daw in vesrmem.s (FCD. (¢ rmarks)
) Eaplain the berefus and costs of PRI te host nnnp:xias. . {8 marks)
{) Exp:ialn the componenis of balance of payments in developing counteies. {8 marks)

(Fotal: 20 marks)

UESTION TWO

(4 marks)
(b} An invesior is cans:de,-rmg two call options, 1 and 2 on Aus.luhan doblars (AF) which are currently available in the
maﬂmt s followa:
Cv_pfim ] Option 2
A3 A% -
- " Btrike price 0640 - 0.650
" ".’remh.lm 9 D015

-'., ,an ogtmn mm«:afor 2 .P.usha.han doﬂa: mpxesema 506,000 unis,

jred: - :
E.:?ljmng that an investor buys the Option' ] call and sells the men 2 gglf, detesmine He net profit the investor
| would make if the Austalian doltar appraciates to:’

: (4 marks}

] A$ 0645 k
{ip . A$0.700 (4 marks}
e fallowing cal 2nd pat options on the Brish pound (£) aro available:

o i a g "Cafl opﬂon Put option

"~ Prmiwmonf - 003 - oM . Tt 5 5. 4

* Siylfeerprice.. . 1500 ©LE00 PLn¥
Option contract units 31230 3250
Spot rate at expiration | 403 1A00-
Duetermine the net profit or Jose to:
) The wriler of both options. (4 macky)
{iB) The buyer of bolk options. - (4 rrnrks)

B {Tolak: 26 marks)
e : ;

 QUESFION FOUR =, 4 o

QUESTTON THRES

i
{a) Identify thres causes of iaternational debi erisis. {8 smasks)
b} Argve the case for and aganst fined exchange rate and feating exchangs rate systems. “10 marks)
(c) Outline the reasons for a government's fnervention o the fgmgﬂ exchange markets and approachies used by the

government i the mte:ven&ons. (4 marks)

(Total: 20 macks)

{a}  Expleiathrte :enlmqucs that 2 firm may usé i Ecrecmunﬂ cxchange ras, {3 tharks;

(b} Ujuzi Motors Lid,; a motor vehicle dealer domicilad in Henypintends 1o import ten motor vehicles from Caum:ry X

witase curtency s the yellow (Yel). The currency in Kenys i
motor vebizle is Yel. 1 054 000. Ujuzi Motoss L
ordes te hedge againgt possible cumency risk,

is the Kenya Shilling (KSh.}. The purchase cost of each
is cowﬁemg enlering inwa futures contract o cpnuns conisacs m

A ﬁnzmml marlcez researcher has provided the following wo m:mznves ol hedging against possible currsney risk:

i, A thiee months futuess contract The cument prrice of the futures Sontact is 1 Yel. /KShU.B75. The fuiums
contract sizeds-¥el 125 000: The tick vajue is Yel; $2.50; where one-tick is 0.01 cents pee Yel,.
~ Nate; 1ESh. is equivalent to 100 cents.

s &Luueucy D’pmma!:nn e:zcrc;sr:pn:em 1Yel/ESh.0.9980. The option prcmmms I 98 KSh. per 100 Yels.
The ctlrmlspﬁt rale is 1Yel. FKSh 0. 93! 3

‘Fhe mscnmher bas predicted the following market scenarios in three mcmhs nmr.

Seenario 1
Spot mate” 1Yel : KSh.0.9998
Fotores price 1 Yel. ; KSh0.9860 2
Seenario 11 -
Spot ate 1Yel. : KSh.0.9660
Futurcs price ] Yel. ; XSh.0.9580
Raqnnrtd
. For both scervrios I and 1T, deterinine: 22l
(i) The cost of hedging and the hedging efficiency using the futures cmm'acL 12 marks)
(i) The cost of hedging wsing the curreacy options. © (Gmartks)y |
{{ii) Explain the most cfﬁcxcnt means of bedumﬂ bused on }ronrresults in (b) (tyand () (ii} above. {2 rarks)

(Total; 26 mm-ks)

| QUESTION FEVE
(@) Identify and briefly zxplamihree mstruments of international d.m.mﬁr:anow. =

(ﬁ marks)

(b ZH Ll a Kenyan {imn, bas 2 one vear contract to coastruct fartmm in Ugmda At the end o{tbe year :hs facm.ﬂ.es'
will be paid for hy the Ugandan Gmmnemlu UgaudaShLIﬁnﬂs {USk.).

The price has been fixed at USh.2 hillion. The local comency it Kenyi is thé Kenyn Shilfing (KSh. ) In order
fulfill the contract, ZH Ltd will need 1o iovest USRI billion i the project ipmmediately and an additional Hxed
amowt of USh.500 million in six moaths time. The Usendan Government has offered ZH Lid. 5 fixed e CUMenc
swap for one year for the full USh.1.3 billion at 2 $wap rats of USh.20/KSh. 1. A netinterest of 10% per anaum wolks
be payable in Uganda Shilling by ZH L. o th Cov.rumi:nt Thc_re is no furwa:ﬂ ftm!rgn ar:,hangc ma:kez for
Ugnndla Stilling against Kenya Shifling "+ F <5 1

"Forecast of inflatlon rates for the next year are as follows:

Frobability Kenya Uganda
0.25 4% 0% .
0.5 5% 0%

0325 % 1005

The Uganda Shilling s a free flooling curency which has not been subject to major Government intervention. The

current spot rafe is USh2SEShE, ZH Lid.'s opportenity cost of’cupml is 12% per year in Kenga, The mpany hay’
0o access B fmds in Uganda,

Reguired:
Evaluate whether it & [ikely to he beneficiai for ZH Led. 10 1;1-»-* © the cumreney swan offersd by te Ugandan
Govemmans | {14 ks
4% W omrkad
e, ! 7
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